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For organizing an effective teaching-learning system which of the following combinations of
statements would reflect the most appropriate concern ? Select from the code to indicate
your answer.

(a) Determining what will be the mtended learning outcome.
(b) Deciding as to what strategy and tactics will be used.

(c) Formally approving the academic qualifications of teachers.
(d) Determining the evaluation tool to be used.

(¢) Deciding the size of the classroom.

(f) Assessing the prior academic experience of the learner.
Code :

Options :

(), (), (d) and (e)

91394316801,

91394316802, (), (b), (d) and (f)
91394316803, (a), (b), (¢) and (d)

91394316804, (€), (d), (e) and (£)

Question Number : 1 Question Id : 9139434277 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a), (b), (c) 3R (d)

91394316803

(0), (d), () SR (£)

91394316804

Question Number : 2 Question Id : 9139434278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In order to promote direct learning which of the following methods would be best suited ?
Options :

R Project method

¥ ‘.‘ . -} e
S BYATLEEOT Lecture with examples

91394316508 DIscussion session

Question Number : 2 Question Id : 9139434278 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e T 1 Gredred oF o fore frefafaa § § sm-dt fafiar gatfies suged 22

Options :

a9 foreror fafy

91394316805.

e fafy

91394316806,

IS0 Figd A=A

91394316807,

91394516808,

Question Number : 3 Question Id : 9139434279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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From the following list of learner characteristics identify those which will be helpful in ensuring
effectiveness of teaching. Select your answer from the code.

a) Extent to which learner obeys the school rules
b) Learner’s level of motivation

d) Learner’s interest in sports and games

(
(
(c) Feelings of learners towards the social system
(
(

e) Pror experience of the learner

(f)  Interpersonal relations of learners
Code :
Options :

' : a), b Elrld C
91394316309, (a), (b) ()

c), (d) and (e)

91394316810, ( )

(2), (c) and (e)

91394316811

91394316812. (b)’ (e) and ([)

Question Number : 3 Question Id : 9139434279 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

sissusiessy @) (B) 3R (c)
91394316810, (C)’ (.d)_ aﬂ-{ (e)

3 (e)

91394316811, (a), (C)
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(b), (e) 3R (£)

91394316812

Question Number : 4 Question Id ;: 9139434280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which devices from the list given below will form part of formative evaluation ? Give your
answer by selecting from the code.

(a) Conducting a quiz session

(b) Giving multiple-choice type questions in post-instructional sessions

(c) Giving a mastery test

(d) Providing corrective feedback during discussions

(Ff) Encouraging opportunity for metacognitive thinking

(f)  Grading students’ performance on a five-point scale

Code :

Options :

(a), (d) and (e)

91394316813,

@), (b) and (0

91394316814,

(b), (c) and (d)

913943163815,

(d), (e) and (f)

91394316316

Question Number : 4 Question Id ; 9139434280 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(@), (d) 3 (e)

91394316313.
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(a), (b) 3R ()

91394316814,

(b), (c) ¥R (d)

91324216815,

d), (e) 3 (f)

91394316816 (

Question Number : 3 Question Id : 9139434281 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Below are given a number of key behaviours as well as helpful behaviours of effectiveness of

teaching based on research evidence. Identify those which are key behaviours and indicate

your answer by selecting from the code.

(a) Structuring through comments by the teacher in respect of what is to come.

(b) Ques ti(ming through content and process level questions.

(c) Lesson clarity implying the extent to which presentations are not involved.

(d) Probing which jJ:ﬂp]iES' statements to encourage students to elaborate.

(e) Engagement rate devoted to learning when students are actually on task.

(f) Rate at which students understand and correctly comprehend assignments and
exercises.

Code :

Options :

(a), (d) and (e)

91394316817

(b), (c) and (d)

91394316818,

91394316819, (c), (e) and (f)

91394316820, (), (d) and (f)

Question Number : 5 Question Id : 9139434281 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (d) 3R (e)

91394316817

(b), (c) 3 (d)

913943168183,

(c), (e) 3T (f)

91394316819.

(a), (d) 3R (£)

91394316820.

Question Number : 6 Question Id : 9139434282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

The paradigm of research which focuses on the development of professional expertise of the
researcher-practitioner is called :

Options :

91394316821, Lure research

91394316822, Applied research

Sissas iRy Action research

91394316824 Qualitative research

Question Number : 6 Question Id : 9139434282 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :
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91394316821

R WY

91394316822

ERIRE UL

91294216823

O MY

91394216824

Question Number : 7 Question Id : 9139434283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements best reflect the meaning and characteristics of research ?
Select from the code to give your answer.

(@) Research means challenging the status quo.

(b) Research is an endeavour to collect facts and information.

() Research is a synthesis of deductive and inductive processes.

(d) Research means proving one’s assertions and beliefs.

(e) Research is a careful review of reported studies.

(f)  Research is a critical and passionate search for knowledge.

Code :

Options :

(a), (b) and (c)

91294216825,

_. (b), (d) and (e)

913943163826

91394316827 (a), (e) and (f)

91394316828 (), (c) and (f)

Question Number : 7 Question Id : 9139434283 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

91394316825 (a), (b) R (c)

(b), (d) 3R ()

91394316826,

(a), () SR ()

91394316827,

(a), (c) 3R (f)

91394316628,

Question Number : 8 Question Id : 9139434284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the two sets given below, Set - I specifies the methods of research while Set - II describes
the critical feature associated with a method of research. Match the two and select from the
code to indicate your answer.

Set -1 Set - 11
(Research methods) (Critical features associated)
a xpermmental method 1 eneralizing to the population from a large sample
(a) Expers [ method ()  Generalizing to the population f large sampl
(b) Ex post facto method (i) Establishing the patterns of events which have
happened, through primary and secondary sources
C 1storical methoc m tudying shared behaviour patterns
(c) Historical hod (iii) Studying shared behavi p
C ographic methoc iv stablishing cause and effect through contro
(d) Ethnographi thod (iv) Establishing d effect through l
(v) Probing into the causal factors from the observed
effects
Code :
@ (b) () (d)
Options :

91394316829, (iv) (V) (H) (m)



www.prepp.in .repp

Your Personal Exams Guide

913943168=20, (1) (]1) (Hl) (IV)

sregustagay 0L () @) (9)

91394316832, (]_l) (1) (IV) (]ll)

Question Number : 8 Question Id : 9139434284 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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he
(a) (b) () (d)
Options :

sizeasiease. V) (V) () (i)

@ @ @)

91394316830, (I)
91394316831, () (@ @) (W)

@ O @ @)

91394316832.

Question Number : 9 Question Id : 9139434285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Identify those stages/steps of research in which ethical considerations become relevant.
Choose from the code to give your answer.

(a) ldentifying and defining research question.

(b) Postulating relationships among variables to advance a solution.

(c) Collecting data through use of research tools.

(d) Defining the population and sampling procedure.

(e) Data analysis and procedure employed.
()  Reporting procedure of findings/results.
Code :

Options :

(@), (b) and (c)

91394316833
91394316834, (), (e) and (f)

(b), (c) and (d)

91394216835,

(b), (c) and (f)

91394316836.

Question Number : 9 Question Id : 9139434285 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (c)

91394316833,

(©), (e) 3R (f)

91394316834,

(b), (c) 3R (d)

91394316835,
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(b), (c) S (F)

91394316836.

Question Number : 10 Question Id : 9139434286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the two sets given below, Set - I provides the format of presentation and Set - II gives the
distinct features to go with them. Match the two sets and select from the code to indicate
your answer.

Set -1 Set - IT
(Format of presentation) (Distinctive features)
(a) Thesis/dissertation (i) Based on free-wheeling of ideas
(b) Research paper (u) Target oriented group based reflection
(c) Workshop (i) Reflective deliberations based on specific themes
(d) Seminar (iv) Presentation on a summary of research done
(v) Systematic prescribed format
Code :
@ ) © (@
Options :

91394316837, @ @ (@) (v)
91394316838 @) (i) () (v)
sissaaieees (D @) G {(¥)

91394316840, (v) (v) () (i)

Question Number : 10 Question Id : 9139434286 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(c) hr (i) Tofire Wl WX s fame =il

(d) I (iv) d MY i Hieent W STemd Tl

e :
(a) (b) (c) (d)

Options :

91394316337, ) @ @) (W)
91394316838, LU L
91394316839, an) @ ) (Y

91394316840, (V) (].V) (H) (ﬂl)

Sub-Section Number: 2
Sub-Section Id: 0913943218
Question Shuffling Allowed : Yes

Question Id : 9139434287 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (11 to 15)
Question Label : Comprehensi-::zn
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Read the following passage carefully and answer the questions from 11 to 15.

One of the findings of the research into successful leadership is the fact that respect is
always a two-way street. No matter how powerful you are, no matter what your experience,
skills, and accomplishments, you will not be respected by others if you consistently treat
them -disrespectﬁﬂly. Friendliness - that 1s, treating others politely and showing interest in
them - is a way of showing your respect for other people, and in return they respect you. If
as a manager you are respected, your preventive maintenance strategy will be accepted as a
sincere attempt to resolve problems rather than a mean-spirited attempt to cause problems.

As important as friendliness is, I want to make sure you are not mislead into believing
that friendliness will replace or correct poor management. I have seen effective managers
who didn’t use this friendliness element but could have been more effective if they did use it.
[ have seen very friendly managers who were ineffective because they were not doing effective
management things. In other words, managers who intervene effectively in a friendly way
are always more effective than managers who intervene effectively in a non-friendly way.
Maintaining a friendly relationship is another part of maintaining work performance. It also
helps you avoid having people try to hurt you because they don’t like you. It might save your
life.

Sub questions

Question Number : 11 Question Id : 9139434288 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
What is reported in respect of successful leadership ?
Options :
51394316841 Respect depends on experience of the leadership.

Respect depends on the skills of the leadership.

91394316842

_ - Respect depends on the accomplishments of the leader.
91394316843

8] ¥ . L-r *-} 2
91304316844 Re&,pect comes out of respect

Question Number : 12 Question Id : 9139434289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The passage highlights which of the following feature of a successful leadership ?
Options :

— Independence of the leader

| _ Dependence of the leader
91394316846,

91394316847 Reciprocity of the leader
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east conc or relationship by the leader
91394316848 Least ern for relationship by the leac

Question Number : 13 Question Id : 9139434290 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The preventive maintenance strategy used by a respected manager will mean to the
subordinates :

Options :
SRR An attempt to cause problems

SRS An attempt to resolve problems

1394 LEBEL An attempt to become mean-spirited

- An attempt to become sincere
91394316852, attemp ecome sInc

Question Number : 14 Question Id : 9139434291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the passage friendliness in management terms implies :

Options :
Replacing poor management
91394316853,

Correcting ineffective management
91394316854,

Making management ineffective
91394316855

Making management effective
91394316856,

Question Number : 15 Question Id : 9139434292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The central idea of the passage is :

Options :

o Friendliness is necessary for management.
91394316857,
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£ 1 1 I . ¥ i
91394316858 Friendliness avoids chances of feeling hurt.

.-4 "3 - s “ v 1 1 . .l 225 5
P — Friendliness improves work-ethos

i " ¥ _ .'r T : - : _ ) = : i . .
— Friendliness is a negative factor for management.

Question Id : 9139434287 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (11 to 15)
Question Label : Comprehensic}n
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Sub questions

Question Number : 11 Question Id : 9139434288 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
e g & ey H 9 giony = € 2

Options :

A g % eaE Wl )

91394316841,
T A & v | R T

91394316342,

HEH =1 i Sudfsy R AR ¥

91394316843,
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91394216844,

Question Number : 12 Question Id : 9139434289 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

STE TR W6 Aqed i Fetarad 3 9 foeg foadma W e S €2

Options :

EGIEIRERER]

91394316845.

EEIEIREREG!H

91394316846,

T ohl QIR

91394316847,

1 SN GSY o g yeiia an TR

913943168485,

Question Number : 13 Question Id : 9139434290 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
T QAT Yeigeh g Ygend fHamenanian o1 SAefieeli < ferq 31¢f gmm .

Options :

91394316849, qIES S ch{ <hl Ueh GIdiq

‘91394316850, A3 o HHIEE &1 Teh 9a19

= v ¥ IR 21 1 T 99

91394316851.

TAMER 999 A1 Ueh JIH

91294216852,

Question Number : 14 Question Id : 9139434291 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I TR & STER YeEE &) gae § 03 9 1 e €
Options :

91394316853, FOSI JeE ST TAATI= &I
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YT JeEA T GER A

91394316854,

YL 1 STYHTET T

91394316855.

 UdYd ol YHET S
91294216858,

Question Number : 15 Question Id : 9139434292 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
EEECRIEINIEIR GREE L

Options :

Sy S Toau T v 3TawEe ©

91394316857,
91394316858, BBl HId, I3 3led -E?lefﬁ a9 Sl %I

W e o St § gur @ g

91394316859.

Tt 9 yeier % foTT Uk TRRIeHs R ¢

913943163860.

Sub-Section Number: 3
Sub-Section Id; 013943219
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 9139434293 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
In communicating in a classroom situation which one of the following approaches will be
considered most appropriate ?

Options :

91394316861, Assertive and conformist

| . Technical and domineering
91394316862

. Personal and emulative

Empathetic and pragmatic
91394316864,
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Question Number : 16 Question Id : 9139434293 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FFT IR H ome & g9 fHefataa § 9 $E-9 SUNTHi i Faifees STgE 3 S 8 2
Options :

91394316861, ¢ U IR
GERIEAR G PR

91394316862,
91394316863

913943163864.

Question Number : 17 Question Id : 9139434294 Question Type : MC(Q Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following constitute the paralanguage in communication ? Select from the
code to indicate your answer.
(a) Pitch of the voice (b) Internal noise
(c) External noise (d) Use of pauses
(e) Rate and volume of speech
Code :
Options :

(a), (b) and (c)
91394216885,

(b), (c) and (d)

91394316866,

(a), (c) and (e)

91394316867

(a), (d) and (e)

91394316868.

Question Number : 17 Question Id : 9139434294 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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frefafed # S T § wfie Feem €2 5T T g ¥ § o SR g

(@) eI 1 SAR-<Ie (b) aRe ¥R
() “RITR (d) o =1 3wEm
(e) AR ST SR YeeAdl

91394316865.
91394316866.
91394316867,

91394516868,

Question Number : 18 Question Id : 9139434295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following would influence the effectiveness of communication in classroom
mstruction in a critical way ?

Options :

A Subject knowledge of the teacher

Academic intelligence and personality characteristics of the teacher
913294316870, O

SassTREE Teaching style preferred by the teacher while transacting

SRR Teaching aids used by the teacher while making presentations

Question Number : 18 Question Id : 9139434295 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
HYNTG ST o STid TEEU i gHIfaal i Frafafad § | SiF Agayyl ®9 ¥ J9Ifad e ?

Options :

a1 <A1 Tawg Hadt I

913943163689,
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91394316871,

TR < THY 187 gRT T foIeror e

91394316872,

Question Number : 19 Question Id : 9139434296 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A teacher decides to form six groups of students and assigns a sub-theme to each group for
discussion and reporting. Which kind of communication model will best describe his/her
strategy in this regard ?

Options :

91394316873 Linear model

91394316874 Horizontal model

Interactional model
91394316875,

—_—_ Transactional model

Question Number : 19 Question Id : 9139434296 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 | | |
o To1erk Sl % ©: Qi o T 1 i e 7 R aierl O fdee % fore deish g
Su-foes Aigar ¥ | 39 9k H 779 TohR 1 TEI901 UqHT SHehT TOMHITA 1 S G7 § 901 ohial & 2

Options :

g gfaam

91394316873,

91394516874,

HAR-Tsharcas gfaa™

91394316875,

91394316876,

Question Number : 20 Question Id : 9139434297 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the f().ll(}wing is a p‘_uwerful determinant for effective assertive communication
whether written or spﬁkmi ?
Options :

“You” messages
91394316877 |

.. We messages
91394316878,

S ‘They' messages
91394316879, y &

Ly ’
91394316830. Inlessageb

Question Number : 20 Question Id : 9139434297 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
QYT SR W, 1 fataa o arfas ®9 | @1, % Ty g4t e Frefaied 3§ 9 sE-91 872

Options :

'qH’ Hew e

91394316877,

i im" ElTQ_'IT
91394216878, £L | >

o= e e 1|

91394516879,

‘T Hey arel

91394316880,

Question Number : 21 Question Id : 9139434298 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0 |
saferEll i SHiayd W& & == T 9000 1 Taunfsm fawan a1 afe 20 1R =afaw B & Ui At
1 T 160 A THerd | SAfRmal o1 a1 & o

Options :

30
891394316881.

45
91394316882,

_—
91394316883
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55
91394316834,

Question Number : 21 Question Id : 9139434298 Question Type : MIC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

X 9000 were divided among a certain number of persons. Had there been 20 more persons,
each would have got < 160 less. The original number of persons was :

Options :

30
91394316881

45

91394316882.

20
91394316383,

91394316834, 99

Question Number : 22 Question Id : 9139434299 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

The number of marble slabs of size 20 cm x 30 em required to pave the floor of a square
room of side 3 meters is:

Options :

00

91394316885.

150

‘913943163836.

2925

91394316887,

913943163883, 25

Question Number : 22 Question Id : 9139434299 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
3 HiE Hl YT 9 Tk AR FHL b B 1M 6 A 20 I x 30 F=IHRET AR &
AR & Tord i 3199 © :

Options :

91394316885,



www.prepp.in .repp

Your Personal Exams Guide

91394316888,
| 225

91394316887,
sy e

91394316888,

Question Number : 23 Question Id : 9139434300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the sequence of numbers 2, 8, 26, 62, 122, 212, x, ...... , the term x 1s :

Options :

7
91394316389 302

338

91394316890

248

91394316891,

91394316892, 332

Question Number : 23 Question Id : 9139434300 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
& %H 2,8, 26, 62,122,212, %, ..., H W x ¥ :

Options :

91394316888. 302

91394316890,
91394316891

91394316892,

Question Number : 24 Question Id : 9139434301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a certain code, LIFE is written as KMHJEGDF. How is WORD written in that code ?

Options :



www.prepp.in .repp

Your Personal Exams Guide

VXNPQSEC

91394316893,

XVPNSQEC

91394316894

VXNPQSCE

91394316895

XVPNSQCE

91394316896,

Question Number : 24 Question Id : 9139434301 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Hq9 H2 ¥ LIFE 1 KMHJEGDF % &9 H foran Siar 1 39 %2 § WORD &1 9 feran s €72
Options :

 VXNPQSEC

913942316893

91394316894 XVPNSQEC

- VXNPQSCE

91394316395

 XVPNSQCE

91394316896

Question Number : 25 Question Id : 9139434302 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

In conveying the same meanmgs, which of the following 1s incongruous ?
Options :

= = E
91394316897, LXCite

91394316898, Flourish

| Prosper
91394316899,

— Thrive
91394316900.

Question Number : 25 Question Id : 9139434302 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qaH 319f 1 g e § fefated § 9 $H-91 S/ 872
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Options :

FEUA (TETEE)

8913943163897.

3

91394316398.
HaHd

91394316300.

91394318899,

Question Number : 26 Question Id : 9139434303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In terms of the relationship indicated below, which word will correctly pair to replace the
question mark (?) ?
? :play::sing :song
Options : |

Act
91394316901,

- Scene
91394316902,

_91394316903_'I11ealre

 Field

91394316904

Question Number : 26 Question Id : 9139434303 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

i< SR TN HeY % STER @ielt T W hiA-91 95 UK 811 7
2 ARE : ;T T

Options :

AN
91394316901
91394316902, 3

T

91394316903
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hicS

91394316904,

Question Number : 27 Question Id : 9139434304 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Given below are two premises with four conclusions drawn from them (taken singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code
given below.

Premises : (i)  All politicians are honest persons.
(i) All honest persons are fair.
Conclusions : (a) Some honest persons are politicians.
(b) No honest person is politician.
(c) Some fair persons are politicians.
(d) All fair persons are politicians.

Code :
Options :
91394316905, (a), (b) and (d) only
91394316906, (b) and (d) only
91394316907, (a) and (c) only
91394316908, (b) and (c) only

Question Number : 27 Question Id : 9139434304 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
2 <) mm-arer feu u € foR =R faserd fererd € (STehet 1 Weh W) | shiA-4r T et @2
A T T %2 & TE W A |
MuRETa : () Wl TS HMeR Al B
() Wl SRR =Afw Foug €
frent (a) TS SHMER SAfHR T |
(b) TP SHFER ST TSkl TE B |
(€) Fo Treaes safer e €
(d) =t froae =afs Tt 2

Options :
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fa® (a), (b) 3R (d)

91394316905,

% (b) SR (d)

913943163906

fad (a) 3R (o)

91394316907,

faF (b) 3R ()

91394216908

Question Number : 2§ Question Id : 9139434305 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Given below is a statement followed by three assumptions made from it. Which assumptions
are implicit in the context of the given statement ? Select the correct answer from the code
given below.

Statement - ‘Smoking is injurious to health”. - A warning printed on the cigarette
packets.
Assumptions : (a) People read printed matter on a cigarette packet.

(b) People make careful note of a warning.
() Non-smoking promotes health.
Code :
Options :

- Only (a)

91394316903

Only (a) and (b)

91394316910

91394316911. On[y (b)

Only (b) and (c)

91394316912,

Question Number : 28 Question Id : 9139434305 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Tiied €2 U 7T %2 H | W& SR A |
AR :  gHIH Wl & Tou wifTepres 2" - Rie & Tl W giegd =mame |

(b) NSS! T GHH O 2

(c) HHIH & H H T A1 A T |

T
Options :
% (a)

91394316909,

fa% (a) TR (b)

91394316910,

% (b)

913942163911,

T (b) #R (q)

91394316912

Question Number : 29 Question Id : 9139434306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Mr. Rajesh, his sister, his son, and his daughter are fond of golf and often play together. The
following statements are true for all the four :

(a) The best player’s twin and worst player are of the opposite sex.

(b)  The best player and the worst player are of the same age.

Assuming that both twins are members of the group of four, who is the best player ?
Options :

Son of Mr. Rajesh

91394316913,

Daughter of Mr. Rajesh

91394316914,

Sister of Mr. Rajesh

91384316915,

91384316916, Mr. REl]ESh

Question Number : 29 Question Id : 9139434306 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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(a) Halan faarE &1 Jeai IR wod e faarst w1 fdn fi= 7

(b) HefaH faerdl AR 9ad e faeel i g 99 2 |

Ifs o8 wH1 STd for ST S[ge =R <l & 99E o HeH 2 ol HellwH faetel H €2

| i oI 1 g

91294316913,

RSN RE

91394316914,

4T SIS ohT I

91394316915,

IR

91394316916,

Question Number : 30 Question Id : 9139434307 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Five persons Amit, Anil, Ajay, Atul and Anand live in a five storey building on different
floors. Amit lives above Ajay but below Anand. Atul lives above Ajay but below Amit. Anil
lives below Anand but above Atul. In which floor does Anil live ?

Options :

91394316917, Second floor

Third floor

91394316918,

Fourth floor
91394316919,

91394316920, Either third floor or fourth floor

Question Number : 30 Question Id : 9139434307 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hre Afda a1fid, Sife, 319/, oTqd SR STFie Uah Uie Hiell HehM o STo-3TelT dal W T&d ¢ |
AT 3T F TR ATHA TS F -4 Wl €| I 31919 & SR aifeh 1ffa & = W g1 A
SIS o AT AT 37ge o FW @l ¢ 1 A Tord a1 W@ 8 2

Options :

QI dcd

91394316917,
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IS 2 LG |

91394316918,
= ad
91394316913,
= .
91394316920, ardi E“ AT ﬁf?ﬂ N
Sub-Section Number: 4
Sub-Section Id: 0913943220
Question Shuffling Allowed : Yes

Question Id : 9139434308 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensi-::zn

Consider the following two tables (I and II) in which table I shows the percentage of
students who joined and successfully completed the Ph.D. programme from the Universities
A to G and table 1I shows the number of foreign Ph.D. students enrolled in the University C.
These percentages have been rounded to the nearest whole number. There are a total of 855
Ph.D. students in the University C and a total of 5700 students successfully completed the
Ph.D. programme from all the seven Universities together.

In accordance with the tables [ and 1I, answer the questions that follow (Qu_estimns' 31 - 35) :

I: Students University - wise I1 : Foreign Ph.D. Students in
University C
Nameof |% of students |% of students who Foreign Number of Ph.D.
University |who joined successfully completed Ph.D.| |Students students in
Ph.D. (out of 5700) University C

A 22 18 American 65

B 15 17 | | Australian 46

C 10 13 African 25

D 17 16 European 35

E 08 09

F 12 15

G 16 12

Sub questions

Question Number : 31 Question Id : 9139434309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
What percentage of students in University C is that of foreign students ?

Options :
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15%

91394316921

20%

912942316922

259
91394316923, 25%

30%

91394316924

Question Number : 32 Question Id : 9139434310 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
In case, there are 21 African students in University E, then approximately, what is their
percentage in that University ?

Options :
nﬂ
91394316925,
2%
91394316926,
5%
91394316927,
0
91394316928, 3 /6

Question Number : 33 Question Id : 9139434311 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which University has the highest percentage of students who successfully completed the
Ph.D. programme out of the students who joined that University ?

Options :

913943169289,

91394316930,

91394316931

=y
'91394316932.]:

Question Number : 34 Question Id : 9139434312 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What is the ratio of students who successfully completed the Ph.D. programme to the students
who joined in the University G ?

Options :

91394316933,

o

91394316934,

6:11
91394316935,

T —

Question Number : 35 Question Id : 9139434313 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The number of students who completed the Ph.D. programme from Universities A and D
together exceeds the number of students who joined the Universities C and E together, by :

Options :

304
91394316937

278
91394316938,

599
91394316939,

69

91394316940,

Question Id : 9139434308 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensic}n
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fefafaa < afeemet (1 iR 1) R fa=m wifse, {5 a1 37 S 1 afaem 9id &,
A fevafemmed T (A) ¥ S (G) 7 H Nie=21. s § Jaw fordn $iR SHehl Aohergesh 0
foran den anfereRt-11 3 fovafammer @ (©) H deiiera fesh dua . =@ # den ovfg ® &1 =
il w1 ferean qof e & seen T 7| favafamea & (O) § $a1 855 Wea.El. o6 € iR a4
gqrdi favafanedi sl faerert 5700 SE 4 9Tl SR i Ghaldrges qU & |
Aifeepi-1 AR 1 % STTER = U T 9941 (999 @ 31 - 35) % ST ST

11 : favafaamaa | (C) # fadof
I : favafaaea-an o= HuaEl s
fogafaaea (WTa.Sl H |[9%haages faeen =M fergafaemer €t (C) &
T M Towi e |fTEE o= S B 1 e
g yfger (5700 & /)

A 22 18 TR 65

B 15 17 ST 46

C 10 | 13 TR 25

D 17 16 Pk 35

E 08 09 |

F 12 15

G 16 12

Sub questions

Question Number : 31 Question Id : 9139434309 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
fereafaamea &t (C) # fageht = w1 uftea =0 872

Options :

15 gfasd

91394316921.

20 9fdsrd

91394316922,

25 gfderd

91394316923,

30 gfaer

91394316924,
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Question Number : 32 Question Id : 9139434310 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gfe favafaamer 3 (B) ® 21 smhet o6 € A 59 favafaere # < wfava = 2m 2

Options :

4 g9

91394316925,

2 gfas

91394316926

5 Qe

91394316927,

3 gfaerd

91394316928,

Question Number : 33 Question Id : 9139434311 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

forg Torgetforanerd H 3S9H mﬁﬁa@mﬁ@ﬁlﬁ <t FFH F THAAEF T H TR BRI
1 IeeaH YR & 2

Options :

91394316929,
91394316930
91394316931,
91394316932,

Question Number : 34 Question Id : 9139434312 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
fervaferener St (G) i s <. HPiHA =1 Therges q0 HT 9 S 1 I BEi B g §
S o ©, T 39 favafaenes § yaw faan a2

Options :
91394316933 :
| S,
91394316934.
6:11

91294216935,
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... 9-17
91394216936

Question Number : 35 Question Id : 9139434313 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
forgafaame™ T (A) 3R € (D) ¥ Fa foaeR fiee sl SrEHT 1 0 S o BE 6l 9@l
fovafaamer™ €t (C) 3R 2 (B) ¥ Fa T yaw o a1 S6 &1 Wen ¥ fwa s 272

Options :

91394316937, 304

91394316938, 278

91394316339. 399

91394216940. 369
Sub-Section Number: 5
Sub-Section Id: 913943221
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 9139434314 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Mohan tells his friends, Sohan (schan@gmail.com), Rohan (rohan@yahoo.com) and John
(john@gmail.com), date of his birthday party through an email as shown below :

To : sohan@gmail.com
Cc . rohan@yahoo.com
Bece . john@gmail.com
Subject  : My Birthday Party is on 15/01/2019
Hello all,
Call me if you can come.
Mohan

Which of the following cannot be derived from this email ?
Options :

91394316941, o0han knows that the birthday party will be held on 15/ 01/2019.

SHBIASHEAD Sohan knows that Rohan receives the email.
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91394316943 Rohan knows that John receives the email.

John knows that both Sohan and Rohan receive the email.
91394316944 |

Question Number : 36 Question Id : 9139434314 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A AU oA, Fre (sohan@gmail.com), LGS (rohan@yahoo.com) 3R S (john@gmail.com)
1 TR it 3 Aream & ST Safe 1 urel o ol & < f o €

To . schan@gmail.com

Cc . rohan@yahoo.com

Bece . john@gmail.com

fawar ;W SR Y qEet 15/01 /2019 1§

el ] THERR,

AR

79 30d ) T | | == froafa & §7

Options :

~ Hre| ol uaT § fop SEfed & 9l 15/01/2019 i T
91394316941,
| 1 Wl & o U& o SHe W Fm o

91394316942,

| & o T § TR S R 3 T 2

91394316943,
igonaigesy T I TS foh TG STR TS QAT h1 T W BT

Question Number : 37 Question Id : 9139434315 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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There are two sets given below. Set - I specifies the IT related acronyms, while Set - IT
indicates their functions. Match the two and give your answer by selecting the appropriate
code.

Set - 1 Set - 11
(Acronyms) (Functions)
(@) CPRU (i) Type of technology used on a flat-screen monitor.
(b) RAM (i) Controls all the functions performed by the computer’s other
components.
(cp ROM (iif) Temporary storage, also known as primary storage.
(d) LCD (iv) Permanent storage that is not erased when the computer’s
power is turned off.
Code :
(@ (b) () (d)
Options :

91394316945, @ ) (m) (i)
91394316946, (©) (v) (i) (i)
91394316947. (1) (111) (IV) (H)

_lnmhm. (i) (i) (iv) (i)

Question Number : 37 Question Id : 9139434315 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= & wge few ¥ wue-l d omdd ¥ wefua wee-dam few e ¥, swfe wg-n H ST
fepemerey faw o €)1 <M TRl w1 gAfad Y SR SUgE F2 1 = R gUIWE |

eI HOE-1I
(9TsE HE™) ( femarehea )
(a) HLUZ (i) TR =G BRI Al WA W YFeR deheieh |
(b) SFRTTH (i) SIS H T TH % Gl Hral w1 SR e €
() SRTEm. (i) STEIRR Yerv, fod mufas Yerw & 9 § of ST ST 2|
(d) TAHLE] (iv) TR YSROT S e 1 faga Yelie T o g it i fiedn |
<
(@) () (o) (d)
Options :

91394316945, @ ) @ @
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91394216946, (1) (].V) (]ll) (]_l)
91394316947, (l) (Ill) (IV) (11)

913943169483, (]l) (lll) (IV) (1)

Question Number : 3§ Question Id : 9139434316 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The gap between those individuals in a society who are computer literate and have access to
information resources like the Internet and those who do not, is referred to as the

Options :

ICT divide

91394216949.

Digital divide

91394316950,

91394316951 Information overload

91394316952, Terabyte divide

Question Number : 3§ Question Id : 9139434316 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

S S Y HHER] 7 qgﬁ el HHTS o hEe ek Al SN 369 dfsdi & ot & AW
=3 i G < S B

Options :

91394316950, fefsea feams
. I SAEAS

91394316951,

91294316952, < ﬁ;a-ls_é

Question Number : 39 Question Id : 9139434317 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In computer terminology, which of the following best describes a device driver ?
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Options :

_ . Software that allows the user to control the operating system.
91394316953, -

e : e
S — Hardware that allows the user to control the operating system

91394316955 Software that allows interaction between peripheral devices and the operating system.

SseE e Hardware that allows interaction between peripheral devices and the operating system.

Question Number : 39 Question Id : 9139434317 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

He & M@l 4, Fifrd § | o T feasy R & Sad IR &2

Options :

92 TR S YATeRT <kl SAaufen faen o1 fEam & &1 3Teie) < 2

91394316953,

IE TSI S T S A fawen &1 Friw & &) AR &1 2

91394316954

'$1394316955.

91394316956,

Question Number : 40 Question Id : 9139434318 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Using a word processing software, an image on page two of a document is to be repeated on
page four of the same document. Which of the following would enable this to happen ?

Options :

Cut and Paste
91394316957,

Copy and Paste

91394316958,

Find and Replace
91394316959,

Format and Replace
91394316960,

Question Number : 40 Question Id : 9139434318 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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TR eI B &1 59 fifoRa H 9 form wream § feman s ?

Options :

91394316957, DIl 3R e
91394316958, gfafafd SR |
g iR ufaeenfud &

91394316959

913943163960

Question Number : 41 Question Id : 9139434319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are indicative of the vision of Blue-Revolution ? For your
answer select from the code :

(a) Promoting development of Botanical Gardens.

(b) Creating an enabling environment for the full potential of fisheries in the country.

(c) Improving the income status of fish farmers keeping in view the sustainability concerns.
(d) Encouraging scientific research in forestry to increase the vegetative cover.

(e) Promoting integrated development of fisheries of the country.

(f)  Undertaking research in new areas like marine finfish.

Code :

Options :

91394316961, (b)’ (C) and (e)

(@), (d) and (f)

91394316962,
91394316963, (b), () and (a)

(), (d) and (e)

91394316964

Question Number : 41 Question Id : 9139434319 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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frifera | & -1 stfepem Fa-swifa & oeyl &1 el R €2 Fe § & o0 WA
(a) S M % TIHT H1 g S |

(b) < T A UTEH HY U1 &A1 o e & AT et afterst A

(c) o ot fearedi @ wam | TEd gU e Uietehi i ST H Serdt e |

(d) = & Fer ¥ faw afe o St vy 9 Seefed

(€) < T U e % 99y faee o semen < |

() T TEaree S T &6 | Y S|

E

Options :

91394316961 (b), () 3R (e)
(a), (d) 3R (£)

91394316962 ,
91394316963, (b), () 3R (@)
91394316964, (c), (d) 3R (e)

Question Number : 42 Question Id : 9139434320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Below are given two sets. Set - I mentions the types of pollution, while Set - II indicates their
source. Match the two sets and select your answer from the code.

Set -1 Set - 11
(Pollution Type) (Source)
(a) Air (i) Point and non-point sources such as discharges from
industries etc. |
(b) Land (i) Industries, thermal power plants and motor vehicles
emissions.
() Water (iii) Roadway, aircraft, industrial as well as high intensity
sonar.
(d) Noise (iv) Over use of chemical fertilizers.
Code :
(@) (b) () (d)
Options :

91394316965, (i) (i) (i) (iv)

91394316966, (H) (IV) (l) (I_Il)
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o139az16067. G} () (@) (W)

91394316968, (IV) (IH) (H) (1)

Question Number : 42 Question Id : 9139434320 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
== €1 Ty few T €| WYg-1 H 90 o YR feU Y € Sefeh Wg-11 H 37k &I =erd T E | S
g 1 e Rt S g T e A & T v

-1 -1
(" UgHUT WY ) (¥|a)
(@) 99 (i) Teig IR TR-foig B SI& =, geAfe H Femsid
b) «fF (i) M, g TRy HA AR WL el 1 e
(c) S (i) HSH, TR, SRNATH IR S=9 &0 9t AR’
(d) = (iv) THEfTH Jeehi 1 sTcafeen 39dm
e :
(@) (b) () (d)
Options :

91394316985 (1) (11) (111) (W)
91394316966 (11) (iv) (1) (m)
91394316967. (1) (1) (u) (W)

91394316963 (v) () @) @)

Question Number : 43 Question Id : 9139434321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following provisions are directly covered in the Environment Protection Act,
1986 ?

Options :
o1394316969 L rOtECtion and conservation of forests and matters connected therewith
91394316970 Prevention and control of water pollution

Protection and safety of wild animals, birds and plants and for matters connected
91304316971 therewith
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Protection and improvement of quality of environment and preventing, controlling

s1394316970 and abating environmental pollution

Question Number : 43 Question Id : 9139434321 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
friferd § 9 HH-8 Yraem g o stifem, 1986 § gy 9 § it €2

Options :

a1 ot TR 3R HEI0T 91 SHY [ "ol

91394316969,

91394316970, SN AGIUI Pl e siR fao
= e, ufri ofR del T Heen S Hee qo T g3 Hee

91394216371,

HIE IREST 1 S0 ST YR a9l Tl 1 FHero

913943168972,

Question Number : 44 Question Id : 9139434322 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

In the context of a School / University which of the following aspects of environment determine
the academic ethos ?

Options :

Attractive physical campus
91394316973

Latest lab equipments
91394316974

Patterns of human relations as evident in workplace
91394316975,

Well-equipped lecture halls

91394316976,

Question Number : 44 Question Id : 9139434322 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
ferenera/ fawafaamea & e § qaierw & fifhd d ¥ HH-9 Iee] STheHs H-Hwhid

91394316973
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91394216974,

91394316975,

USSId SATA JW-54

91394316976,

Question Number : 45 Question Id : 9139434323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the two sets given below, Set - I specifies H,5S level in a water sample, while Set - II
provides observations. Match the two sets and indicate your answer from the code given
below :
Set - 1 Set - 11

(H,S level in Water Sample) (Observation)
(@) No H.S is produced ()  Dark black - high water pollution
(b) H,ySis produced and is small in quantity (i) No colour - clean water
(¢) H,Sis produced and is medium in quantity (iii) Light black - low water pollution
(d) H,Sis produced and is high in quantity (iv) Black - moderate water pollution
Code :

() ) (© (d

Options :
oizsameery, & W) () (W)

91394316978, (Hl) (IV) (1) (11)
91394316973, (IV) (1) (H) (IH)

(i) @m) @) @)

91394316980,

Question Number : 45 Question Id : 9139434323 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= e e < i F, -1 8 S % T 8 H,S ' fafifde 7, i wag-1 # Seor feg e E

eI -1
(ST & T § H,S T W) (eTuT )
(@) I H,S Iedred &l gl (i) TR A - 3= S YGH

(b) H,S Seica S ¥ SR ST HE ST A B (1)) R TR - g A
(c) H,S Seufed Brel § SR SHeh! WIS HEH Bl S| (i)  Sooh hiell — 379 5o Jgul
(d) H,S eI €Il ¢ R STk A ST B €1 (iv) Il — HEAH el Hgu

T
@ () () (d)
Options ;
91394316977 (1) () () ()

91394316978. (i) (v) (@) (i)

(iv) @ (@) (i)

91394316979,

@ @ @ 0

91394316980,

Question Number : 46 Question Id : 9139434324 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which organisation in India overseas the functioning and quality aspect of teacher education
programmes ?

Options :

~ Association of Indian Universities (AlU)
91394316981,

University Grants Commission (UGC)
91394316982 - -

91394316983, National Council of Educational Research and Training (NCERT)

National Council for Teacher Education (NCTE)

91394316984, .
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Question Number : 46 Question Id : 9139434324 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

IRa T Toreres T1eqo1 SHeishdl i TTTqrary Qe OTa Sl Y&l o1 STTETeqo] shiv 3T il € 2
Options :
TR A gfea gFHafdds (T 8 )

91394316981,

fovafarmer stem s (F S )

91394316982,

T fereh STTHEM T e gReg (TH € € R )

91394316983,

T 31eqTqes f¥req gfteg (T |t 3% 2)

91394316984 X

Question Number : 47 Question Id : 9139434325 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following bodies/units in a University has a statutory function to perform ?
Options :

91394316985 Board of Studies

91394316986, Fmance Committee

| Board of Management
91394316987

o Research Degree Committee
91394316938

Question Number : 47 Question Id : 9139434325 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

ol feaafeammer # Freifea o & forg fema /s =1 Wifafus & o= 8 82

Options :
;91394316985.'I|32l Hili“
9139431698”.‘ BESIEIR

Yy SIS

91394316987.
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MY Uiy gfEfa

91394316988,

Question Number : 4§ Question Id : 9139434326 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following activity /programme in a University aims at Value Education in a
holistic frame ?

Options :

National Cadet Corps (NCC)

91394316939,

T Arts and Musical Concerts

___ Inter-University Competitions
91394216991

—— Yoga Education and Wellness Centres
91394316992,

Question Number : 48 Question Id : 9139434326 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

97 ®9 9 g A e fordt forvafermer & f=ifea § & ey framrard) risd o1 308w
M E?

Options :

T Hee TR (T Hi i)

91394316988.

91394316990,
91394216991,

g foren AR gleafa g (Fa9 )

91394316992,

Question Number : 49 Question Id : 9139434327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For promoting Human Values through programmes of the University System in India, which
of the following activities have great potential ?

Options :

S Lectures by experts
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Association of NGOs
91394316994,

Mentoring by senior faculty members
91394316995, .

Inviting dignitaries/heads from national level organisations
91394316996,

Question Number : 49 Question Id : 9139434327 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
urd H fagafaene 33 % weiswdl & weam § feifea § § feg nfafafy § ame 9ol % dadq
HI SFATIF &I &2

Options :
-  Taomsi & e
91394216992,

T ST 37 R HY

91394316994,

913943163905,

S X o WSl oh T St/ TH@ el s

91394316996,

Question Number : 30 Question Id : 9139434328 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which _Df the following statements correctly describe, the functions/status of me_NaI:iUnal
Institute of Educational Planning and Administration a deemed to be University ?
(a) Capacity building and research in planning and management of education
(b) Educational Planning and Administration
(¢) Fully maintained by the Government of India like any Central University
(d) A Statutory Institute of Educational Planning and Administration

Select the correct answer from the code given below :
Options :

91394316997, (a) and (b)

(a) and (c)

91394316998,

a) and (d)

91394316999, (
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91394317000,
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Question Number : 50 Question Id : 9139434328 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes

Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

freiferg § @ F-w o U Oy R @ Tees Sem, w mifa fovafaeme, @

nfafafem/ feafa o adt < & aftfq s 82

(a) Toreo & feem wd yeivA # awan i SR sIgEam

(b) et FEreT Td gomE

() Tt =g fovafaene™ & T Rd WER R goid: STfad

(d) Wifers AN SR J9RH 1 T Hifafas S

F=t faw Te e H F SR

Options :

a) 3R (b)

91394316997, (

(a) 3R (c)

91394316998,

(a) ¥R (d)
(b) 3R (d)

91394316999,

91394317000.

Group Number :

Group Id :

Group Maximum Duration :
Group Minimum Duration :
Revisit allowed for view? :
Revisit allowed for edit? :
Break time:

Group Marks:

Section Id :

Section Number :

Section type :

Mandatory or Optional:

Number of Questions:

Number of Questions to be attempted:

Paper II

2
01394358
120

120

No

No

0

200

80 Geography

91394358
1

Online
Mandatory
100

100
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Section Marks: 200

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 013943222
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 9139434329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following groups of topographical features is the product of erosional

process ?

Options :

Eskers, Fiords, V-shaped valley, Seifs
91394317001,

Cirque, Arete, Playa, Stack
91394317002,

Moraine, Barchan, Pinnacle, Wave-built platform
91394317003,

Levees, Stalagmites, Monodnocks, Drumlins
91394317004,

Question Number : 51 Question Id : 9139434329 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frfafas § @ SF-w1 v y-xurpias fasvaedt aren ag e whshan st aitoms 2 2
Options :

terd, i, V-t urdt, s
91394317001 ’ J g

ek, AL, THET, ©Hh
91394317002,

e, s, fAfea (Rrafen), so-Fife wesid
91394317003,

e, Rammge, A, gafed

91394317004,

Question Number : 52 Question Id : 9139434330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Plate margins and volcanic zones are closely related with each other.

Reason (R) : Most of the voleanic zones are located along convergent plate boundaries.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317005,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394317006,

(A) is true, but (R) is false.
91394317007.

(A) is false, but (R) is true.
91394317008.

Question Number : 52 Question Id : 9139434330 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= gt sy fau e B, o @ o atfiepua (A) & 3R g0 7 (R) B | oAl it ufge oft = feg g
% AN W qG IR AT |
a7firrer (A) : Wi S (e W) ik SaTaEi & WR ST A W@ A GEg AR ¥ |
a% (R) : sftrerm Sarame 7 o sz dimet = safera § |
62
Options :

aan I TE SqE
91394317005, (&) 3 (R) 31 &t & 79 (R), (A) it &l 21

(A) 3 (R) 31 T8t €, T (R), (A) 3t Tt =amem &1 |
91394317006,

A) y (R)Tdd = |
91394317007. { Hﬁl%tﬂ‘ﬁj ?

A) Teld =, R |
91394317003. { ® b Y

Question Number : 33 Question Id : 9139434331 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The upper part of the mantle upon which the crust of the Earth floats is known as

Options :

B here
91384317008%. HYEP



www.prepp.in .repp

Your Personal Exams Guide

Mesosphere
91=94=217010.

Hydrosphere
91384317011. yErosp

Asthenosphere
91384317012, =t

Question Number : 53 Question Id : 9139434331 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Heee B S Wi Roraes ST gedft it adidt veraw HHdt 2, H Ha S @

Options :

91394317008, ( )

91394217010.

91394317011.

TR

91394317012,

Question Number : 54 Question Id : 9139434332 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Geologically, the oldest rocks in India are from

Options :

Dharwar region of Karnataka
91394317013.

Aravali region of Rajasthan
91294217014,

Vindhyan ion of Madhva Pradesh
91384317015, e &

Siwalik ion of Punjab
91384317016, o :

Question Number : 54 Question Id : 9139434332 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
it gfee & WG <t o=@ gt <IgH el h & ?

Options :
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FACH % RIS
91394317013, o

91394217014. % W

qeq + faeg
91394317015, S W

91394217018, % o

Question Number : 55 Question Id : 9139434333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is responsible for Global Change in the sea-level ?

Options :
91394317017, |sostatic

91394317015, Clmatic

91394317019, ustatic

Diastrophic
91394317020,

Question Number : 55 Question Id : 9139434333 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafafas & @ =0 gqgaa § A sRada @r % fe ser R 2
Options :

91394217017.

91394317018.

91394217018.
91594317020.

Question Number : 36 Question Id : 9139434334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which of the following groups of scholars stressed on the role of lateral erosion by streams

in the formation of pediments ?

Options :

91384317021.

91394317022

91394317023.

91394317024.

McGee, Paige, Blackwelder

McGee, Blackwelder, Johnson

Paige, Johnson, Lawson

Paige, Blackwelder, Johnson

prepp

Your Personal Exams Guide

Question Number : 56 Question Id : 9139434334 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

FrafaRas 7 @ fagri & fea qg 3 arastt gro it aron i Sfede & fain 3 e woaa R 2

Options :

91394317021

91394317022

91394317023,

91394317024.

nl, 49, AT

T, sAhaTSt, SHAE

4, SiTeE, e

U, Selehaeel, AaA

Question Number : 57 Question Id : 9139434335 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The Two-Cycle Theory on the origin of limestone caverns was proposed by

Options :

91384317025.

91394317026.

91384317027,

913943170283.

Swinerton

Davis

Malott

Gardner
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Question Number : 57 Question Id : 9139434335 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
<A ek HISA 5 IQW i -=6erd Trgia formes grar sreqa o mam o 2

Options :

91394317025,

91394317026.
91394317027.
91394317028,

Question Number : 5§ Question Id : 9139434336 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following features is formed due to tectonie forces ?

Options :

Hanging valle
913384317028%. 5L ¥

U-sha valle
91384317030, ped 2

Blind valley
912394217021,

Rift valley
91394317032,

Question Number : 58 Question Id : 9139434336 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

faade 9@ & sru fr=fafas @ @ fra sz w1 fafo g 2 2
Options :

aftnT et

91394317028,

Y- ATHR 91t T
91394217030,

91394317031. 9



www.prepp.in .repp

Your Personal Exams Guide

91394317032, R M

Question Number : 39 Question Id : 9139434337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Conrad discontinuity is found between

Options :

91394317033, Outer and Inner core

91394317034, —ialand Sima

91394317035, —iwa and Nife

Upper mantle and Lower mantle
91394317036,

Question Number : 59 Question Id : 9139434337 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Hrs fafeewar Frafalas @ fras o ag st 8 2
Options :

91394317033. AT S

Rrea ok Rt
91394317034,

91394217035, ol AR

913942317036, S fie R et e

Question Number : 60 Question Id : 9139434338 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(Name of Author) (Name of Book)
(a) Steers (i) Geomorphology
(b) Von Ricthofen (ii) The Unstable Earth
(¢) Wooldridge (iii) Principles of Geomorphology
(d) Thornbury (iv) Spirit and Purpose of Geography

Code:
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siz845i70zy & Wb, (b)), (D), (d)-Liv)

srsgaR aaEs Oy - )t

91394317039, (a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)

siasaE a4 P P (), (-, (D)

Question Number : 60 Question Id : 9139434338 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 1 = 11 8 gofera e ofit i g me 52 3 @ vt s = 9fw

I gt 11
(FrEre =1 Tm) (e 1 ™)

(a) Wiord (@) Rrimieih

(b) 9 fedla () g IFRew o

(©) Feei (iti) Tiftroew oife Remieiarsh
(d) 9Tt Giv) Torfe we wu oifs REmd

%
Options :

91394317037 2~ (B)-(1), (}D), (DLiv)

sgeagroes w0 (o), (d)-Ui)

91394317039, (a)—(iv), (b)(iii), (e)—(ii), (d)—(i)

a139431704g > Dr (b ()=, (d)- ()

Question Number : 61 Question Id : 9139434339 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Which part of the electromagnetice spectrum (EMS) causes human skin cancer ?

Options :

Gamma rays
91394317041,

91394317042 Ultraviolet radiation
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91304317043, hero waves

91394317044, Tadiowaves

Question Number : 61 Question Id : 9139434339 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
golagitHies WagH (L) S frammasd sm a2 ?

Options :

91394217041, i

91394317042

qe qa
91394317043

91594317044,

Question Number : 62 Question Id : 9139434340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is required calories of heat to increase temperature by 10° C for
1 gram of water ?
Options :

91394317045, 1 calorie

91394317046, L0 calories

91394317047, o2 calories

91394317045, O calories

Question Number : 62 Question Id : 9139434340 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

1 UTH S S 10° A, % TIIHH T TH FE 5 fore o it feasht St A sragaenar 2t 2 2
Options :

91394217045, 1



www.prepp.in .repp

Your Personal Exams Guide

91394317046, 10

913942317047, e

91394317048, '

Question Number : 63 Question Id : 9139434341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : During an equinog, the length of daylight is 12 hours everywhere on the
Earth.

Reason (R) : The circle of illumination passes directly through the poles, thus dividing the
lines of latitude in the middle.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943170489,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394317050,

(A) is true, but (R) is false.
91394317051.

(A) is false, but (R) is true.
91394317052,

Question Number : 63 Question Id : 9139434341 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
=ty fGg 7o §, Fom & & iR (A) B 3 8T 7 (R) B | oAl =t ey ok = fig e
e I SN F T I gAY |
e (A) - Taga % g gt 3 asft vl W e R B orafy 12 9 i et 7
g% (R) : TH1Y Y =9 1 S0 8 g3 A e It 3 3R 39 YRR wen § ey wanstt it favnfra
FAl B |

R
Options :

A) 3 (R gt (R), (A) *h g sgrean
91394317049, (R) SH1 7t & 74T (R), (A) ol 21

(A) 3R (R) 1 9&t 2, g (R), (A) i Tt <A1 41 2 |
91394317050,
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A) ) R)Tcd = |
91394217051, BT, T B !

(A)Teid B, W (R) T 2 |
91394317052,

Question Number : 64 Question Id : 9139434342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Evaporation from water bodies is greater than that of land surfaces.

Reason (R) : Energy is not required to evaporate water.
Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317053,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394317054,

(A) is true, but (R) is false.
91394317055.

(A) is false, but (R) is true.
91294217058,

Question Number : 64 Question Id : 9139434342 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= gt oA fau e 3, o @ o atfiepua (A) & 3R @0 7 (R) B | oAl =t ufge i A= feg o
% I AN F & IW YA |
S (A) : wa Frept @ arseR yae B et | siften g |
% (R) : 911 3 A5 o Tow =it ht srmagasrar 451 gt 2 |

R
Options :

A) 3 (R gt (R), (A) *h g sgrean
91394317053, (R) SH1 7t & 74T (R), (A) ol 21

(A) 3R (R) 1 9&t 2, g (R), (A) i Tt <A1 41 2 |
91394317054,

A) 3 R)Tdd = |
91394317055. W R ?
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A) Tdd &, R) |
913942317056, ( L@t

Question Number : 65 Question Id : 9139434343 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.
Assertion (A) : Low moisture content in air leads to the formation of towering storm clouds.

Reason (R) : The energy transfer from equator to poles takes place through evaporation and
condensation.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317057,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943170583,

(A) is true, but (R) is false.
91394317059.

(A) is false, but (R) is true.
91394317060.

Question Number : 65 Question Id : 9139434343 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
= <t Sy fym e §, Forl & v atfirem (A) R R @0 7% (R) § 1 el %t ufge 3R i faw e
% T TENT X TE S YT |
S (A) : 9ty | ot 7 9§ F FEEd! qge FHifa gd g |

% (R) : MASTE | YF N AR F 1 A Jr6 AR T 3 AT | Bt € |

B

Options :

A) 3R Tl (R), (A) *h T sgrea
91394317057, ) IR ) TFT TR 2 T (R), (A) A T 21

(A) 3R (R) qH1 981 2, T4 (R), (A) I Tt =411 741 ¢ |
9123942317058,

A) ) R)Tcd = |
91394217058, BT, T B !

(A)Teid B, W (R) T 2 |
91394317060,
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Question Number : 66 Question Id : 9139434344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of cloud formation in ascending order.

Options :

Cumulus, Stratus, Cirrostratus, Altocumulus
91394317061,

Altocumulus, Stratus, Cumulus, Cirrostratus
91394317062,

Stratus, Cumulus, Altocumulus, Cirrostratus
91394317063,

Cumulus, Stratus, Altocumulus, Cirrostratus
91394317064,

Question Number : 66 Question Id : 9139434344 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gefamior <t fshan 1 wgd v0 o GE HH TAIRT |
Options :

HATE, T, IE T, e St
91394317081,

qex S, wdl, wardt, gy wd
91394317062,

Tdt, wardt, weg wardt, gy Wl
91394317063,

FHATE, T, we Fardt, gay @l
91394317064.

Question Number : 67 Question Id : 9139434345 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List II and choose the correct answer from the code given below :

List I List II
(Type of Water Drops) (Fall Velocity in km/hr)
(a) Large rain drops i 7
(b) Drizzle droplets (i) 33
(¢) Large cloud droplets (iii) 23
(d) Typical rain drops (iv) 0-3
Code:
Options :

sisaasizoes by (D), (e=(ly), (d)-(it)



www.prepp.in .repp

Your Personal Exams Guide

91394317085, 2D (-, (6)-{iiD), (D~iv)

o139uz1706g o dby (v, o)), (d-ih

Question Number : 67 Question Id : 9139434345 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Tt 1 g 11| gafaa Aifve ot 9 g e g 3 @ wd s i gh

qH I g 11
(te1 6t dg +TTER) (Terefirerer wara am)

(a) i = R @ 7

YR Tk (i) 33
(¢) w3 A fargs (i) 23
(d) Tafirsez i 43 (iv) 0-3

%2
Options :

grsgasrges o (b, (e-iv), (d)-GiD

91304317085, 2~ (-0, (6)-(1iD), (Div)

91394317067, (a)—(D), (b)—(ii), (e)—(iv), (d)(iii)

Question Number : 68 Question Id : 9139434346 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Wind is the result of only the vertical differences in atmospheric pressure.
Reason (R) : Wind is nature’s attempt to balance inequalities in air pressure.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943170689,
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394217070,

(A) is true, but (R) is false.
91394317071.

(A) is false, but (R) is true.
91394317072,

Question Number : 68 Question Id : 9139434346 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

= gt o fou e 3, ot @ ue atftpua (A) 7 3R g0 @ (R) 3 | oAl =t ufee i A= feg g
% T AN F & IW g |

ST (A) : 9 IAVSAIT A | Fedie HaT 1 Tiom 7 B |

g% (R) : 997, IY % T N F@aHaisi H wgferd F oo vwfy womma R

C &

Options :

A) R (R 9T (R), (A) h T& sarean
s1s0dsizoey OB IR SR TN (), (4 v 2

(A) 3 (R) 31 T8t €, T (R), (A) it Tt =amemn &1 |
91394317070,

A) A R)Tcd = |
912394217071. (DT, T (R !

A) Teld 5, R) |
91394317072 { %‘TF@( i

Question Number : 69 Question Id : 9139434347 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Mid-latitude cyclones are low-pressure systems travelling from east to west
across the middle latitudes in both hemispheres,

Reason (R) : Most mid-latitude cyclones have a cold front and a warm front.
Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91294217072,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394317074,
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(A) is true, but (R) is false.
91294217075,

(A) is false, but (R) is true.
91394317076,

Question Number : 69 Question Id : 9139434347 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

A9 Q) Fom R e E, il 3 o sl (A) # ot gga 7 (R) | el 1 afge oft A9 Ry g
% 1 TN F GE SR G |

ST (A) : WA AT FHATd Gl TMened | TE3-3800 & 7o | ufem it 7R sam el o ga
AR |

a% (R) : AREHIT WET ST SHRATA 1 T a T S T I8 A07d Biam 2 |

C -

Options :

A) (R TgT (R), (A) *ht T8 sgrean
91394317073 (R) TFI Tt & 94T (R), (A) Ht &) 21

(A) 3R (R) gt 9t 2, 95g (R), (A) i Gt sarem 76 2 |
91394317074,

A) y (R)Tdd = |
91394317075, { Hﬁi%‘i’(f-@ !

A) Teld &, R) |
91394317076, { %‘f{:@( Ll

Question Number : 70 Question Id : 9139434348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The most stable conditions ocecur during a temperature inversion, when the
temperature actually increases with height.

Reason (R) : Temperature inversion leads to greater vertical air movement.
Code:

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317077,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943170783,

(A) is true, but (R) is false.
91394317079.
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(A) is false, but (R) is true.
91=94=217080.

Question Number : 70 Question Id : 9139434348 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e @ty fGg 7T §, s | & A (A) B 3 8T 7 (R) @ | A1 =l ey iR = fgg e
% 1 TN R FE ST AT |

S (A) : TT9 SR % SRA uied 2R reft srcafess omft gomd =7 gt € s e aRaa 1
ST % qIY-TTY et ¢ |

b (R) : T YoM A s Sl ag mA g 8 |
6
Options :

agr $I el ARSI
91394317077, (&) ST (R) TR TEl & T (R), (A) i et 2l

(A) 3 (R) gH1 Tt 8, g (R), (A) i Tt sarem 76 € |
91394217078,

A) 3 (R)Tdd = |
91394317079. WE, Y !

(A)TTed 8, g (R) Tt 2 |
91394317080.

Question Number : 71 Question Id : 9139434349 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following coasts has narrow continental shelf ?

Options :

91394317081, China

913943170g0, Canada

91364317083 Torthern Australia

91394317084, 'Vestem coast of South America

Question Number : 71 Question Id : 9139434349 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

FrefaRa | @ fora 9 @ Tl wergida 3Ie% 2 2

Options :
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91294=217081.

91394317082.

ot erefor

91394317083.

zfaror amfeenr st gfvadt g2
91394317084.

Question Number : 72 Question Id : 9139434350 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following rocks is associated with “Cratons” ?

Options :

913943170gs, Cranite

Conglomerate
91394317086,

91394317087, Sate

Phyllite
91394317088,

Question Number : 72 Question Id : 9139434350 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : (

freafafias 4 @ -t 93 ‘P’ A gag 2 ?
Options :
91394317085, m

qifewred

91394317036.

91394317087.

fReeme

91394317033.

Question Number : 73 Question Id : 9139434351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(Mid-Ocean Ridge) (Ocean)

(a) Carlsberg Ridge (i) Pacific Ocean

(b) Mid-Atlantic Ridge (ii) Antarctic Ocean

(¢) East Pacific Rise (iii) Indian Ocean

(d) Antarectic Ridge (iv) Atlantic Ocean

Code:
Options :

sisanaTsney N RSO (ld)-0D

sisaasizaes i, (=), (=), (d)-lv)

91394317091, ) (B-(¥), ()i, (d)-0D)

g13g4z1700p 2 (D)D), (-0, (d)-(iv)

Question Number : 73 Question Id : 9139434351 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt 1 g 11 3 gt Aifvre ot A9 g o 5 3 @ w9t swm o gf

A1 qt 1T
(a) wiedar Heh () TEIT AETEPK

(b) WeH-3CAI(EH Hesh (i) IHeThic HFENT
(0 ¥ Aafes ww i) feg TR

C T

Options :

sisaasizaag i, (v, (-0, (i)

91394317090, (a)—(iii), (b)), (e)—(ii), (d)—(iv)

91394317091, (a)—(ii), (b)—(iv), (e)(iii), (d)—(i)

91304317002 il (B)-(1), (}-(D), (div)

Question Number : 74 Question Id : 9139434352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

Which one of the following numbers denotes major zoo-geographical regions of the world
established by A.R. Wallace ?

Options :

5
91394317093,

6
91394317094,

7
91394317095,

8
91394317096,

Question Number : 74 Question Id : 9139434352 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrafiRa | @ - T TR, iaa grn waiiva faga % wga Seg-vitmifas weu =t gofdt 2 2

Options :

91394317093. :

6
91384317094,

7
91394217085,

8
91394317096,

Question Number : 75 Question Id : 9139434353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following marine features is not supporting for speedy growth of coral
reefs ?

Options :

91394317097 Ciose toisland shore

9139431709, ear toamnall channel

Around a lagoon
913943170989,

Guyots and seamounts
91394317100,
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Question Number : 75 Question Id : 9139434353 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Frafafad & @S-t wgl v @ 6t gt 5 A faem & o gees 78 2 7

Options :

&9 a¢ % gy
91394317097,

91394317098. ST

% IME-919
91394317099, i

e ik dre
91394317100, m; i

Question Number : 76 Question Id : 9139434354 Question Type : MICQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which one of the following is not an example of “natural air pollution” ?

Options :

Ash from voleanic eruptions
91294=17101.

91394317102, vuclear test

Spores released by plants
91384317103, B Ly

91394317104 indblovm dust

Question Number : 76 Question Id : 9139434354 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Freafafad § @ iH-a1 “grploes 9 9 1 3] T@: R 7

Options :

SaraEt faepie @ fwe 1@
91394317101,

e adiam
91394317102,

et grr Fdaa ey

91394217103,
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qa4 g ITE X g
91294217104,

Question Number : 77 Question Id : 9139434355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which one of the following components is nof taken into consideration by the
Environmental Pollution Assessment (EPA) of US to calculate the Air Quality Index (AQI) ?

Options :

91394317105, Carpon dioxide

91394317106, Ground-level ozone

91394317107, Particulate matter

Sulphur dioxide
91394317108,

Question Number : 77 Question Id : 9139434355 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafas 4 3 fra 9o w g, 3 vl vy fufo (§f.) g T e gese
(T, 79,3118, ) =t Mt < fore fo=m 4@ foen St 8 2

Options :

Floq SEATFAES
91394317105 bl

STqT W A
91394217108, K

fafama g
91394317107,

ToF SRATEES
91394317108. ST

Question Number : 78 Question Id : 9139434356 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT and choose the correct answer from the code given below :
List I List II
(Location of Yardang) (Lithology)

(a) Jaisalmer, India (i) Clay

(b) Khash Desert, Afghanistan (ii) Eocene limestone

(¢) Sinai (ili) Caliche limestone

(d) Saudi Arabia (iv) Nubian sandstone

Code:
Options :

srgeaTriy -k (- (- (i), (d)-{iv)

91394317110, (@)~(i), (b)), (e)~{iv), (d)—(iii)

91394317111, (a)—(1), (b)—(ii), (e)(iii), (d)~(iv)

grsgamyrrys - (-0, (B4, (D)

Question Number : 78§ Question Id : 9139434356 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

gt 19 g 11 & gfere At oft A9 R e 5e # @ o s g

ﬁl ﬁ II
(ST 1 TT) (srenfes)

(a) WG, WG @ T
(b) ST A, HBMORAH (i) A S TR
(c) Termme (iii) “hfersht = weeR
(d) T4l I (iv) IR TG e
C T

Options :

sissasiziee W (b0 e, (d)-{v)

g139asi7re 2 (04D, (o)-tiw), {d)-(iiD

91394317111, (a)—(1), (b)—(ii), (e)(iii), (d)—(iv)

gisanayrys S RSO (i)

Question Number : 79 Question Id : 9139434357 Question Type : MIC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Which one of the following is correct related to a major wave of extinction ?

Options :

91394317113.

91394317114.

9139431/7115.

9139431/7116.

When man was still predominantly a hunter and gatherer

During the Iron Age

During the Bronze Age

During the Post-Industrial Revolution

prepp
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Question Number : 79 Question Id : 9139434357 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Prfrfae i @ w-an frfa 3 wopa wn 3 wea o @l 22

Options :

91394317113.

91294217114

91394317115.

91394317116.

rea ot oft @A U e AR WU A 91 o

dig T % <A

HIEA YT % RH

iRt sifa % Te=Tq.

Question Number : 80 Question Id : 9139434358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of vegetation belts at different altitudes in the equatorial

mountains of East Africa in descending order (top to bottom).

Options :

91394317117.

913943171183.

91394317119,

91394317120.

Lowland Forest, Bamboo Zone, Ericaceous Belt, Afro-Alpine Belt

Afro-Alpine Belt, Ericaceous Belt, Bamboo Zone, Lowland Forest

Afro-Alpine Belt, Ericaceous Belt, Lowland Forest, Bamboo Zone

Bamboo Zone, Lowland Forest, Ericaceous Belt, Afro-Alpine Belt
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Question Number : 80 Question Id : 9139434358 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gt anhiet o feryaeta wdat # fim-fi swam w areafos-Saan 1 9ed 79 8 (SR @ = i )
qg A g ?

Options :

Fre yify =, =@ &9, YEEHa-TadT, SPRh-TeTE AEe
91394317117

IHIhL- TSR T, Whha-Tae, 7@ &, s i o=
913943171183

IhIhL- TSR e, Whha-Trae, Fre uft o=, @ &
91394317119,

arg &, fre it =, Weswa e, sehrh-earsa Tae
91394317120,

Question Number : 81 Question Id : 9139434359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Nomothetic approach in geography emphasizes upon
Options :

Empirical study
91394317121.

Inductive study
91394317122,

Law making study
91394317123,

Ideographic stud
91384317124, = 4

Question Number : 81 Question Id : 9139434359 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Wi § Ttetfes soite’ feafafiea % & fea s maa @ 2 ?

Options :

Cﬂaﬂﬂﬁ:ﬂ HEGAq
91394317121,
9139435171z2Z.

fafer Frofor weeft svemm

91394317123.
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VIdHCTh A
91394317124,

Question Number : 82 Question Id : 9139434360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concept of paradigm was propounded by :

Options :

91394317105, Immanuel Kant

Peter Haggett
91394317126,

91394317127, oot

91394317108 Fubn

Question Number : 82 Question Id : 9139434360 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
e (Fae) i srauron feaa & 2

Options :

A Fid

91394317125

et ge

91394317126.
91394317127,
913943171283.

Question Number : 83 Question Id : 9139434361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I with List II and choose the correct answer from the code given below :
List I List IT
(Contribution) (Author)

(a) Regional Geography (i) O.H.K. Spate

(b) Systematic Geography (ii) Griffith Taylor

(¢) Stop-and-go determinism (iii) Carl Ritter

(d) Probabilism (iv) Humboldt

Code:
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Options :

si584517i0g, & U9, (D)D), (0D, (-

srsgan ey oy - )t

gragasyrigy - -, (oG, (- (v)

srssasizyas il (b, (-, (d-v)

Question Number : 83 Question Id : 9139434361 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= 1 = 11 8 gofera e ofit i g me 52 3 @ vt s = 9fw

ﬁl ﬁﬂ
(Frar) (v@=s)
(a) & i @) hwaF. e
(b) ARG YA ) frfey e
(0 Whdsm fafoar @) Fe R
(d) BHTERITER (iv) gaiee
C T
Options :
sizguzrring (b)), (R (1
sigeagriag Ul (- (o), (d)-Ui)
91394317131, (a)-(1), (b)—(ii), (e)(iii), (d)—(iv)
91394317132, (a)~(iii), (b)—(1), (e)—(ii), (d)—(iv)

Question Number : 84 Question Id : 9139434362 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
The famous text on classical astronomy entitled “Almagest” was authored by

Options :

91394317133, Lratosthenes

Hipparchus
913943171324
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emy
91294217135,

91394317136, Sxabo

Question Number : 84 Question Id : 9139434362 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

AT @ fam W “oremiee” T TG J60 & @ iF § ?
Options :

=

91394317133.
91294217124

91394317135.

AL

91239431/7136.

Question Number : 85 Question Id : 9139434363 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT and choose the correct answer from the code given below :

List I List II
(Book) (Author)
(a) Makers of Modern Geography (i) Ratzel, F.
(b) All Possible Worlds (i) Hartshorne
(¢) Anthropogeographie (iii) Dickinson, R.E.
(d) Nature of Geography (iv) James, P.E.
Code:
Options :
**.! b 11 ? s ] ? d i
S—— (a)—(ii), (b)(iii), (e)—(iv), (d)—i)
i), (b)—(iv), i), (d)—ii
SIS (a)—(1), (b)—(iv), (¢)—(iii), (d)—(ii)
5 ()i 5 (i
SIS 7156 (a)-(iii), (b)—{iv), (e)—(i), (d)—(ii)
). (b)(ii 9 ()
91394317140 (a)—(iv), (b)—ii), (e)—(iii), (d)—(i)

Question Number : 85 Question Id : 9139434363 Question Type : MC(Q Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

gt 1 g 11| gafaa At ot 9 i e ge 3 @ wdt o g

gt
(3a=)
(a) AHd ITE Ais+ Prurd

(b) it Uikt dosd
(¢) Ui
(d) =R % P
Bhe:

Options :

gt I
(FErs)

() &I|, .
(i) i

(i) fefermam, am 3.

(iv) W, 9.3

(a)-(id), (b)—iii), (e)—(iv), (d)—(i)

91394317137.

(a)-Q1), (b)—(iv), (e)-iii), (d)—(ii)

91394317133.

(a)-(iii), (b)—(iv), (e)-(i), (d)—ii)

91394317138,

(a)-(iv), (b)-{ii), (e)-(iid), (d)—(i)

91394317140,

prepp
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Question Number : 86 Question Id : 9139434364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Who among the following geographers correlated the colour of ocean water and its salinity ?

Options :

91394317141, A-Masudi

91394317142 1Pn-Sina

Ibn-Khaldun

91394317143.

Al-Magqdisi
91394317144,

Question Number : 86 Question Id : 9139434364 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freaferfaa & @ form spiicraen 3 wEAPR % 9id % T 3R 3aeh FavaT i gghay S ?

Options :

-G

91394317141.
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e ic
91394317142, v

Fo-Eegd
91394317143.

a-ufwadt

9139431/7144.

Question Number : 87 Question Id : 9139434365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who amongst the following scholars has propounded the concept of Time-Space Geography ?

Options :

Higerstrand
91394317145,

Harvey
913894317146,

Haggett
91394317147, B

Huntington
91394317148, gto

Question Number : 87 Question Id : 9139434365 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Freafifaa # 1 fora fagm 3 Fra-cam (egn-oim) yma & sraymon 6 2
Options :

RS

91394317145.
91394317146,

91394217147,

gfde

913943171483.

Question Number : 8§ Question Id : 9139434366 Question Type : MIC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0
Who amongst the following has authored the book ‘A Hundred Years of Geography’ ?

Options :
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Huxley
91394217149,

91394317150, CalisB.

91394317151 Harrison-Church R.J.

91394317150 I reemanT.W.

Question Number : 8§ Question Id : 9139434366 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

fFrefafas # @ $9 T g3 T o RrihY gea % o & 2
Options :

g

913942171493,

USIECEIN

91394317150

-SSR,
91394317151,

I & zeey,
91394317152

Question Number : 89 Question Id : 9139434367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Who amongst the following developed the concept of mental map ?

Options :

91394317153 oould and White

91344317154 Dovosand Stea

Boulding and Higerstrand
91394317155,

91394317156, —aarinen

Question Number : 89 Question Id : 9139434367 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fr=fefas @ @ fram wmths wmiss (Sea #9) it sraumon fasmla &t 2
Options :

Meg 3 58Ee
91394317153, =~ o°

913942317154 AL

difeeT AR FRRTS
91394317155,

91394317156,

Question Number : 90 Question Id : 9139434368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT and choose the correct answer from the code given below :
List I List 11
(Geographer) (Contribution)

(a) H.H. Barrows (i) Cycle of Erosion

(b) W.M. Davis (ii) Geography of Human Ecology

(¢) M. Jefferson (iii) Morphology of Landscape

(d) Carl Sauer (iv) Laws of Primate City

Code:
Options :

91394317157, (a)—(iv), (b)—(id), (e)~(D), (d)(ii)

srssagizies @il (b0 (e-(y), (d-(ib

91394317159 (a)—(iii), (b)—(iv), (e)—(ii), (d)—(D)

Question Number : 90 Question Id : 9139434368 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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gt 1 g 11 & gl Aiftre ok A9 Ry e ge # 3 w8 swoA g

gt

CUCER

gt I
(FvrET)

(a) TETE. HG, () A Th
(b) Teeq.wm. Sfad (i) WA YIiEs H i

(¢) TH, SHLET
(d) el AR

C T4

Options :

91394317157.

913943171583.

9139431/7158.

91394317160.

(iii) G I pfa fosm
(iv) T@ L o fram

(a)-(iv), (b)-(id), (c)—(1), (d)(iii)

(a)-(ii), (b)), (e)(iv), (d)—(iii)

(a)-(iii), (b)—(iv), (e)—(ii), (d)—1)

(a)-(1), (b)iii), (e)-(ii), (d)—(iv)

prepp
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Question Number : 91 Question Id : 9139434369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Central Business District (CBD) of a city has high concentration of wholesale
stores, offices and cultural and recreational activities.

Reason (R) : Prices and demand of real estate increases as distance towards CBD reduces.

Code:

Options :

91384317161.

91394317162,

91394317163.

91394317164,

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 91 Question Id : 9139434369 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= 2t A fym e §, o & v i (A) R o @0 7% (R) § | el i ufge 3 i faw e
% 1 TN F GE SR G |

fireT (A) : Trelt 7 3 F=im sraam B (e.460.3.) § 4 ©R, Frion ik s
qeYes TfataftEt 3= g Bl 8 |

7% (R) : H.dt A, i 3ik gl 9er  wu-wy Saa 3 A Fiwa R win 7 wgad gt S R

C -

Options :

a4t 2105
— (A) 3 (R) AT w5t 3 791 (R), (A) i el E

(A) 3R (R) gt Tt 8, g (R), (A) i Tt sarem 76 |
912394217162

A) y (R)Tdd = |
91394317163. { Hﬁi%‘i’(f-@ !

A) Teld &, R) |
91394317164, { %‘f{:@( e

Question Number : 92 Question Id : 9139434370 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following statements correctly explains the difference between Gravity
model and Potential model ?

Options :

Gravity model does not take distances into account, while Potential model takes distances

91394317165 R0 account.

Gravity model makes no provision for size of places, while Potential model considers size of

places.
91394317166,

Gravity model deals with only two places at a time, while Potential model accounts for

interactions between many places.
91394317167,

Both Gravity model and Potential model are the same.
91394317168,

Question Number : 92 Question Id : 9139434370 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

freafafiaa & @ SR-a1 SY= w8 7l F e qiga ik feufos diga & = st it saren
AT B ?
Options :

TeeareRyYl Hige gt T e =1l whear, wafs feufos wiee o W fmm s 2 |
91394317165. 9 ™ t
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TGCATRNYT Hige TSI % ATHR HI VLM T8l Hal 2 safer fedfesr wisa Tt % R W fa=r

FET 2 |
91394317166,

TGCATRYYl Hise Th AR Fad g1 UMl 8 Faftia 2 safes feufoss afee o et & offe ofa:fem W

i B |
91394317167,

913943171683. Lt eI ol

Question Number : 93 Question Id : 9139434371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I with List II and choose the correct answer from the code given below :
List I List II
(Historic Period) (Duration)

(a) Mughal (i) 600 BC to AD 500

(b) Pre-Historic (i) AD 1526 to 1800

(¢) Early Historieal (iii) 2350 to 1800 BC

(d) Medieval (iv) AD 600 to 1800

Code:

Options :

01394317169 UV (D, (e-ih), (il

91394317170, 2t (b=, (¢)=(iv), (d)-0)

grggag g W @) (-, (d)-(i)

Question Number : 93 Question Id : 9139434371 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

gt 1) gt 11 & gafe iR s 9 R e g § @ Tl IR R

gt I et I
(Wforrirs erafir) (eraf)
(a) T () 600 FaT & & 500 Tt

(b) vt (i) 1526 & 1800 w4t
(0 T Yamies (i) 2350 & 1800 &1 &

(d) WETHEA (iv) 600 ¥ 1800 et
e

Options :
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(a)—(iv), (b)—(i), (e)—(iii), (d)—(ii)

91394317169,
Sigeasizize il (b=, (-, (-0
91394317171, 2 (W), (e-(i), ()~
oisgaz ziye A (B (-, (d)-tv)

Question Number : 94 Question Id : 9139434372 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following Union Territories was the most urbanised one in 2011 ?

Options :

Lakshadweep
91394317173.

91394317174 D2wanand Diu

Pondiche
91384317175, o

91394317176, NCT of Delhi

Question Number : 94 Question Id : 9139434372 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (

a4 2011 # FeafaRas qousa &4t 7 gaffs welisa wsa F-a1 91 2
Options :

A
91394317173.

91394317174

913942317175,

feodt T TR A

912394317176

Question Number : 95 Question Id : 9139434373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List I with List II and choose the correct answer from the code given below :

List I List IT
(Term) (Explanation)
(a) Cohort (i) Measure of productive population

(b) Dependency Ratio (ii) Graphic method of representing age and sex composition
(¢) Population Pyramid (iii) Population group unified by a specific common characteristic

(d) Total Fertility Rate (iv) Average number of children a woman bears throughout her
child bearing years

Code:
Options :

ayzeamyryry oA oD, (g

grsgamryre b (b, (e-iv), (d)-(iD

sisangTyiry il (B0 (-0, (d-Uv)

Question Number : 95 Question Id : 9139434373 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

5 19 et 11 & g g ot A9 Ry o e § 2wl SR IR

g 1 gt 11
(W) (=avean)
(a) FIFIE (i) IECH TGS G

(b) Fooiva s (i) 3w iR T Txemn =6t guie areht miftees fafy

() SEE fafie i) fot som faswarett @ 52 Ao o

(d) FARFET R (iv) FH 5 FA 91 991 4 wfgensdt g o=
TR S a1t =1t St gE

$e:

Options :

ayzeamyryry oA oD, (g

grsgamryre b (b, (e-iv), (d)-(iD

sisangTyiry il (B0 (-0, (d-Uv)

siz845i7ig0, &b b)), (-, (-
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Question Number : 96 Question Id : 9139434374 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT and choose the correct answer from the code given below :

List I List IT
(Model Concept) (Definition)
(a) Sector Model (i) Model of the internal structure of cities

in which social groups are spatially
arranged in a series of rings

(b) Concentric Zone Model (i) Nucleus of a city where retail stores
and offices are concentrated
(¢) Bid-Rent theory (iii) Theory that refers how price and

demand on real estate changes as
distance towards CBD increases

(d) Central Business District (CBD) (iv) Model of internal structure of cities in
which social groups are arranged
around a series of sectors or wedges
radiating from CBD

Code :
Options :

sissasizias il (0. (e-(y), (d-(ib

ayzeasyryge e (BT LO-WD, (CPQ

grsoagyrray (-0, (C-UvIREESID

Question Number : 96 Question Id : 9139434374 Question Type : MICQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T 19 et 11 & g i o A9 R o e § 2wl swoR R

gt I gEt Il
(TTES srauroT) (afesma)
(a) Qe AisA (i) R 6 Al = i Aiea Red
g Tg 99 JEaslt | e 9 8
afedq 3
(b) Fi-dfesh T uies (i) TR H Fg gl U R AR FrEieE
s1feres g o e 8
(c) faz¥e Rugra (iii) Y Rrgia <t warar 2 fr faa e A
Frg IR " 9 St § 5= 9 g
AR g Wt @
(d) e saaam fran (AR Gv) Td H el g w1 aiea e
TR W &1 i sqaaret o @4,
A froeH el &9 % IR AR safeid 3
e
Options :

91394317151, -4 B)-0D), ()-liv), (d)~(E)

grsougtrrey - (bHD, (-, (DR

91394317124, (a)—(D), (b)—(ii), (e)—(iv), (d)(iii)

Question Number : 97 Question Id : 9139434375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Cn_rrect Marks: 2 Wrﬂng_Marks : 0
Which one of the following principles is representive of the
following figure of Christaller’s Model ?

o

Options :

Administrative Principle
91394317185,

Marketing Principle
91394317186,

Transport Principle
91384317187. L P
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Threshold Principle
91294217188,

Question Number : 97 Question Id : 9139434375 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Freaferfiarm 3 & #i-m g freten wiea % fom fm =1 wfafafim
FLAT R ?

Options :

9129421718%.

TR Rigra

9139431/7186.

qftaga fagra

91394317157.

deelt Rrgra

913943171383.

Question Number : 98 Question Id : 9139434376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

C_t__:-rrect Marks : 2 Wrong Marks : 0
Which one of the following human settlement sites is
representative of the following figure ?

T
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D int settlement site
91394317189, L0

Wet point settlement site
91394317190,

91394317191, Defence settlement site

Bridgi int settlement site
91384317192, EREEr

Question Number : 98 Question Id : 9139434376 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Prerferfia § & SR T e e B Rt 2 0

Options :

et T
91394317189, wﬁg

g, forg wredt Tuet

91394317190,

91394317191, T o

forfom forg =t Torer
91394317192,

Question Number : 99 Question Id : 9139434377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following groups of states in India recorded more than 40 percent of urban

population as

Options :

per 2011 census ?

Maharashtra, Tamil Nadu, Gujarat

9139431/7183.

Goa, Mizoram, Sikkim

91394317194,

Puducherry, Goa, Nagaland

91394317195.

Maharashtra, Rajasthan, Tripura

91394317196,

prepp
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Question Number : 99 Question Id : 9139434377 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

2011 <t ST % AR WRa % Fafafaa ® @ fora w9 wg it w2l snardt 40 yiewe & st

aifera i ot 2

Options :

TEnrSg, e g, o

912394317193.

T, firdie, fafaen

91394317194,

912394317195

gg=d, T, AT

HERrSg, TR, Bga

91394317196,

Question Number : 100 Question Id : 9139434378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following demographic parameters represents the population growth rate ?

Options :

Natural change and crude birth rate

91394317197.

Natural change and net migration

91394317198.

Net migration and fertility rate

913943171989.

Net migration and birth rate

91394317200.
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Question Number : 100 Question Id : 9139434378 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrefafaa # & SiR-m SHikkRR wigs Sae afg [ guia 2 2
Options :

Srepfaeh IR 3R srenfera w1 3
91394317197

srepfaeh aitad ok $a yarE
91394317198,

FA TaTE 3R T
91394317199

FA Yarg 3 R
91394317200,

Question Number : 101 Question Id : 9139434379 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following factors of a boundary determination between the areas of two
competing firms is correct, if the gradients of delivered price and freight rate of firms’
production is same ?

Options :

91394317201 Raw material available

Output of firm
91394317202,

91394317203, Closer distance from the location of firms

Price at plant/firm
91394317204.

Question Number : 101 Question Id : 9139434379 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Frefafaa & 2 St 5 sfveadt a1t & &t % e fim Pufor S e s s d ad g, ak
HH/IeATEA i gYa i i yaura iR AR P @ awE T R 2

Options :

91394317201. o T

<l IcqTG
91394317202.
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%4 % T A 0 w1 T I
91394317203,

913942317204, TR

Question Number : 102 Question Id : 9139434380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following authors initiated concept of ‘Isodapanes’ in space-economy ?

Options :

91394317205, - Hoover

91394317008, A Losch

91394317007, I Flander

91394317003, A Weber

Question Number : 102 Question Id ; 9139434380 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Frfafas o & fora oraes 3 stafta-srdforaryn 3 “amRaiRy=g" it Gheu1 i YHATT N ?
Options :

g
51394317205, © o

T, e
91394317206,

91394317207. H

T, et
91394317208,

Question Number : 103 Question Id : 9139434381 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
With the outbreak of World War 11, the interest in political geography was focussed on

Options :

Immediate problems of international relations
913943172089,
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Indu related development
91=294=217210. L e

Economic development issues
91394317211.

Regional cooperation with the neighbouring countries
91384317212, o = J

Question Number : 103 Question Id ; 9139434381 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

fedfta fawa 3¢ % =y & Trifos et o = fora w =g ot 2
Options :

Sfaufsdta gayt i qrchiiere gueaTd
91394317204,

91394317210. 8

s R 2
91394217211,

91394317212, TR S e

Question Number : 104 Question Id : 9139434382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following can be categorized as a primary activity ?
Options :
Coal mining

912394317213.

Teaching
91394317214.

91394317015, Tiandieraft

Car manufacturing
91394317216.

Question Number : 104 Question Id : 9139434382 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafefiaa @ @ Tt snafis Friams & w9 7 affsa fovm s aspar 2 2

Options :
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91394317213. o

913942317214
91394317215.

91394317218,

Question Number : 105 Question Id : 9139434383 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Rural house is an index of the
Options :

91394317017 |mvironment

91394317015, racial Element

Fashion and Style
91394317219.

Modern Architectural Design
91394317220.

Question Number : 105 Question Id : 9139434383 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

areftor =) forae gEs 8 2
Options :

91394317217.

91394317218. kA

91394317219. S e el

gl aregeat femga
913943217220,

Question Number : 106 Question Id ; 9139434384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Which one of the following economic principles is correct for organisation of settlements
based on K = 4 presented in the Christaller’s central place model ?

Options :

Marketing
91394317221.

9139431700 Administrative

Transport
91394317223, L

Agricultural activities
91384317224,

Question Number : 106 Question Id : 9139434384 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fRRER o Trget woid Hisd | QA K = 4 % YR W Ff@rt & a7 & fore Fafafas 4 @ S
e g @et 2 2

Options :

91394317221.

91394217222,

91394317223.

F W g3 HH

91384317224

Question Number : 107 Question Id : 9139434385 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one pf the following categories of urban land use as per given
graph has the highest gradient of its economic rent at 2 km distance ?

Commercial

Industrial
Residential

Economic Rent

Green land

I I |

0 2 4 6 8 10

Distance (km)
Categories :
Options :
91394317005, Cveen land
91394317006, lesidential
91394317007 Commercial
9139431700g, 1ndustrial

prepp
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Question Number : 107 Question Id : 9139434385 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0



www.prepp.in

A= feg e 7 % sgur wed y-avEe i e aoft 6 2 feedt gl o anfiler

fipe <) gt dfsu=e 2 7
EUVIERED
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5
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Options :

912394317225.

91394317226.

912394217227,

9139431 7228.

prepp
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Question Number : 108 Question Id ; 9139434386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which one of the following is correct for the cost-input graph of industrial production

system, where point of profit maximising output is

Options :

913943172289,

91394317230.

91394317231.

91394317232

Marginal cost is not equal to marginal revenue

Marginal cost equals marginal revenue

Average cost equals average revenue

Total cost equals total revenue
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Question Number : 108 Question Id : 9139434386 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fRifireh ScuTET 9 % WITG-3YE W % Guy # Prafafas § @ H-m ad 2, Rl sareg
afrhan w0 aren @ g B, st

Options :

diiid T, didid 3 % SUe T8 3
912394317229,

diaiq wmTa, ST I % S R
91394317230

sftaa @Ta, oftaa o % SR ®
91394317231.

| 214 o O B
913943217232 = » ¥4

Question Number : 109 Question Id : 9139434387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following transport networks depicts : Vertices 6, Edges 6,

Diameter 3 ?

1 A D : P

&n
o

6 6
Options :

91394217233,

91394317234.

91394317235.

91394317236.

Question Number : 109 Question Id : 9139434387 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fafafga 9 9 FHa fges Jead weEla awam 2 o aféss 6, vIe 6.

rfier 32
1 A

6
Options :

91394217233,

91394317234.

91394317235.

91394217236,

: B .5
AR S
5
6
A
B
D
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Question Number : 110 Question Id : 9139434388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Most transportation networks begin as branching networks.

Reason (R) : Because the first priority of the transport agencies that build them is generally
to get all points connected.

Code:

Options :

91394317237.

91394317238.

91394317239.

91394317240.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 110 Question Id : 9139434388 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= 2t A fym e §, o & v i (A) R o @0 7% (R) § | el i ufge 3 i faw e
% 1 TN F GE SR G |

S (A) : S Ragt e A ah F A TE AR E |

e (R) : it aftags wiftt h vaeht srafienar a8 ot f w8 @ samn sme foad amrre: at
fargadt it St s & |

C -

Options :

a4t Sl
91394317037 ) S (R) 31 &t & 99 (R), (A) it &6l 2l

(A) 3R (R) gt Tt 8, g (R), (A) i Tt sarem 76 |
9123942172238,

A) y (R)Tdd = |
91394317239. { Hﬁi%‘i’(f-@ !

A) Teld &, R) |
91394317 240. { %‘f{:@( e

Question Number : 111 Question Id : 9139434389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following terms is generally used to express the relationship between
cultural groups and their natural environment ?

Options :

Cultural ecology
91394317241.

Cultural convergence
91394317242,

91394317043, Cultural diffusion

91394317044 Cultural hearth

Question Number : 111 Question Id : 9139434389 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafafiaa 5 @ HR-2 93 St 4T aicsfae augt 3 I Tnfis vatawr & e gay it sawd F
% fere fepan St 2 2

Options :

U I[EGE]
91394317241,
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i
91394317242,
TG
91394317243,
qrEFHiae Wil o
91394317244,

Question Number : 112 Question Id ; 9139434390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which one of the following groups of states of India was ranked as top three States in
proportion of Scheduled Tribes population to total population according to census 2011 ?

Options :

Madhya Pradesh, Nagaland, Jharkhand
91394317245,

Mizoram, Bihar, Rajasthan
91394317246,

Lakshadweep, Mizoram, Nagaland
91394317247,

Nagaland, Rajasthan, Jharkhand
91394317248,

Question Number : 112 Question Id : 9139434390 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFreafafiaa 3 @ wia & o5 U531 9g ® 2011 ) SR 3 AR AR SRSl i AT H
Tl AL |/ I aifes 8 2

Options :

qeq AMAS, FES
91394317245 R, ’

v, faer, Toeu™
91394317246, ’ ’

aag, fsiw, armeis
91394317247, g g

TS, TSI, HES
91394317248,

Question Number : 113 Question Id : 9139434391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match List I with List IT and choose the correct answer from the code given below :

List I
(Term)
(a) Language (1)

(b) Dialects (ii)

(¢) Vernacular (iii)

(d) Lingua Franca (iv)

Code:

Options :

List IT
(Definition)
Differences in vocabulary, pronunciation,

rhythm and speed that set speakers of same
language apart from each other

An organised system of spoken words, used
to communicate with mutual understanding

Established language used for
communication by people with mutually
incomprehensible native tongue

Non-standard language or version of a
language that is native to a local area

(a)—(D), (b)ii), (e)-iii), (d)—(iv)

91394317248,

(a)—(iD), (b)—(iv), (c)—(i), (d)—(iii)

91294=17250.

(a)—(iv),

91394317251,

(b)—(id), (e)—(D), (d)—(iii)

(a)—(ii), (b)), (e)—(iv), (d)—(iii)

912394317252

prepp
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Question Number : 113 Question Id ; 9139434391 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Tt 1=t = 11 & gafaa Hive o A= R me g § @ 9 swoA gfa:

g1 T 1
(=) (aftwmaT)
(a) oI ({) Wee, I=, @9 I ey # e st gam
VITST e e i Th-gat & 99% FT 8
(b) et (i) e I 9T weel i saafea yomedt R
YOR G % 1Y qufve e s fore s
forat st 3
(¢) TG (i) TUH AIGHTIT A& ARTE GRT TR0 3 ST
$ 9 areft
(d) fompen % (iv) foredt Tamitar & <t it it smeRrET @
B
Options :
91394317249, (a)—(1), (b)—(ii), (¢)—(iii), (d)—(iv)

(a)-(ii), (b)—(iv), (e)—(D), (d)—(iii)

91394317250.
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staguarroey R Uie- (U d)-gil

sissasizaes il (.o, (d-(ib

Question Number : 114 Question Id ; 9139434392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

Match List I with List II and choose the correct answer from the code given below :
List I List IT
(Cultural diffusion) (Definition)

(a) Relocative Diffusion (i) Upward/downward movement of

dispersal through a system of classes
or centres

(b) Hierarchical Diffusion (ii) When acceptance of or information
about an innovation spreads
throughout the society

(¢) Expansion Diffusion (iii) When expansion affects almost
uniformly to all individuals and
areas from a source region

(d) Contagious Diffusion (iv) Geographical transfer of culture
traits by movements of people across space

Code:
Options :

91394317253 (a)-(1), (b)—(ii), (e)—(iv), (d)(iii)

s gt o O
9139451705y Uy (B, (=10, (G

orsazyoss | aUibED, (-, (d)-(e)

grggagroee - - (-, (d)-(i)

Question Number : 114 Question Id : 9139434392 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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T 1 g 11 @ iR i ik 3 R e g 7 @ @l s A TP

et I T o
(g wa) (wframar)

(a) TITUAFA Sa00T (i) T AT =g oIl % WieAw |

S/t faash
(b) TG T (ii) T TR h w91 G R A9
® S St 8
() Rrearwamr (i) o frear @it st aen i
&7 I THATH T Y IR T B
(d) WehITh JEW  (iv) WL <5 TATIh STeH % 0 FieHha
Yiter Toit w1 AT Sfor
B
Options :
grsgagyrosy B, (e-tv), (d)-(iD
srsangiysey - B, (-0, (d-lv)
91394317055, D) (-, (£)-(iiD), ()iv)
orzsazyony | i (b, (-, (d)-Oif
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Question Number : 115 Question Id : 9139434393 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which one of the following subjects/functions is listed on the Concurrent List in India ?

Options :

Post and Telegraph
91384317257, "R

91394317058, Defence

91394317059, T rice Control

anking
91394317260,

Question Number : 115 Question Id : 9139434393 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

wid § FrefaRa 9 @ w-an fvwesd aradi gt 42 2

Options :
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91394317257. ST 3K I

91394217258, ™

913943172589.

91394317260.

Question Number : 116 Question Id : 9139434394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The concept of Lebensraum gained popularity in the field of political geography following
the publication of

Options :

Geographical Pivot of Histo
91384317261. Bee 4

Politische Geographic
91394317262,

Making of Political Geograph
91384317263, - R

Foreign Affairs
91384317264, en

Question Number : 116 Question Id : 9139434394 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line QQuestion Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefaftad 3§ & fFa YoM % arg TSHifas P % &7 | qaaiy i JEURoT A 55 ?
Options :

femiess e A%
91394317261 e

91394317262.

913943172€3. i

91394317264, e

Question Number : 117 Question Id ; 9139434395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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The term ‘Geopolitics’ was coined by

Options :

91394317265.

91384317266.

91394317267.

913843172683.

Haushofer

Kjellén

Ratzel

Mackinder

prepp
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Question Number : 117 Question Id : 9139434395 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘el (Rramaffafess) e frash gra gfive R mem o1 2

Options :

9139431 7265.

91394317266.

91394317267,

91394217268.

TN

LIRS

Question Number : 118 Question Id ; 9139434396 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which one of the following is the most acecurate representative of cultural unit from the

highest to the lowest order ?

Options :

91394317269.

912394317270.

91394317271.

91394317272.

Complex, Realm, Region, Trait

Realm, Complex, Region, Trait

Realm, Region, Complex, Trait

Trait, Complex, Region, Realm
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Question Number : 118 Question Id : 9139434396 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Preforian 1 & sraidl 300 3 Wi g W Wi wd w0 & qute 3

Options :

Sfew, wfeiea, &, dier
91394317269, ’ T

gieiea, wfed, &=, s
91394317270 ' T

gfeied, &, wied, Y
91394317271. T ’

sitenu, wifew, &9, qiviea
91394317272, ' ’

Question Number : 119 Question Id : 9139434397 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Who among the following geographers has authored the book “The Geography of State
Policies’ ?

Options :

91394317073, Tl Morril

91394317074, b Cohen

91394317075, Tuchard Hartshorne

91394317076, 1Y Prescott

Question Number : 119 Question Id ; 9139434397 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;
Rrerfrfas 5 3 fre st X 2 P oife B T’ o Rt 2 2
Options :

AT, Hilts
91394317273,

vq. . FeA

91384317274.

fe=d Bré

91394317275.
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91394317276. A.3mA.

Question Number : 120 Question Id : 9139434398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

What percentage share of net tax revenue is now shared by the National Government of
India with the States after the acceptance of the recommendations of XIV Finance
Commission ?

Options :

91394317277. -

913843172783. 28

91394317279. L

91394317230. =

Question Number : 120 Question Id : 9139434398 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Stegd fam 2 At Rreifee it TR fort S % 912 319 YR Y g TR g =41 6 91
faa = aoea 1 Tora=n wfosr feean amen fen smar @ ¢

Options :

91294217277, 4

913843172783. 28

91394317279. L

91394317230. =

Question Number : 121 Question Id : 9139434399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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The following are two lists, one having the names of the planned towns and the other
having the names of rivers on which they were planned. Match List I with List IT and
choose the correct answer from the code given below.

List I List II
(Name of town) (Name of river )
(a) Ayodhya () Yamuna
(k)| Harappa (i) Indus
(¢) Shahjahanabad  (iii) Saryu
(d) Mohenjo-daro (iv) Ravi
Code :
Options :

D, (b)), (i), (6
srggagzegy 0 DRt d gy
TR

i), (b)—(i 5 v
s1zoaz1zers oAby, texd), (d-0n

i b)—(i i), (d)—(ii
orsazangy | v b, (o=, (d)-(ib

Question Number : 121 Question Id ; 9139434399 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

A2 < vt @ E, weeh F AoErag vl % A § oft gudl § I A HAm TR wag R |
a9 19 gt 112 g Hifvre ik 1 e e gz @ e v A gh |

T I T+ 10

(FrE 1 ) (7t 1 v
(b) TS™I (ii) ﬁ;'g
(¢) VMESRIAT] (i) TG
C T4
Options :
sggag ey W (-, (0 (i), (d)-(iv)
91394317282 (a)-(ii), (b){iii), (e)-(iv), (d)—({)
o139uz170gg: by (Bv), o), (b

91394317284, (a)-(iv), (b)-(1), (e)—(ii), (d)—(iii)
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Question Number : 122 Question Id : 9139434400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following indices is used to indicate if the optimal location was closer to
either raw material source or the market ?

Options :

913943170gs, Material Index

Weighted Index
91394317286.

9139431705y, —abour CostIndex

Relative Spread Index
91394317288,

Question Number : 122 Question Id ; 9139434400 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

afe Teean (fend) TIH F92 WA $ Gid T 9 @ 2115 T 2, 9 395 901 F e
frefofiaa @ | fora g 1 i form A 8 2

Options :

ure (W) gEheh
91394317285, ( )

YR (<) goFih
91394317286 (NEE)

o9 AT GEhih
9123943217287,

any faan g
91394317288,

Question Number : 123 Question Id : 9139434401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The decade of 1990s witnessed urbanisation process speeding up economic
growth in India.

Reason (R) : The urbanisation process resulted in a growing shortage of urban services and
an overall deterioration in the quality-of-urban-life indices.

Code:

Options :
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Both (A) and (R) are true and (R) is the correct explanation of (A).
91294217289,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394317290,

(A) is true, but (R) is false.
91394317291,

(A) is false, but (R) is true.
91394317292,

Question Number : 123 Question Id : 9139434401 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= QY o Ry e §, fil 3 o i (A) R ot gga 7 (R) | Al 1 afge oft A9 Ry g
e I AN F TG I gAY |

AT (A) : 1990 % TIH 7 edemor i i Seft Fred s # snfélen foepra & o g8 1

a% (R) : wrgttentor i sz 1 aftvom sl danedt it sgedt it oit vl shem it o g 7
a5 % €9 H g |

6

Options :

A) 3R gt (R), (A) *h T8 sgqrean
9139431708y, ) R ) TF T 4T (R), (A) R T 21

(A) 3R (R) gH1 981 2, 954 (R), (A) I Tt 41T 741 ¢ |
912394317290,

A) 3 R)TeAd = |
913943172931. B I ® :

(A)Ted 8, g (R) Tt 2 |
91394317292

Question Number : 124 Question Id : 9139434402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

There are two lists, one having macro regions and another their meso regions. Match List I
with List IT and choose the correct answer from the code given below.

List I List IT

(Macro region) (Meso region)
(a) Central (i) Damodar Valley
(b) Western (ii) Malnad
(¢) Southern (iii) Saurashtra
(d) Eastern (iv) Bastar
Code:

Options :
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91394317093, - (M-, (€)-(iiD), (div)

9139uz170gs M uiby (v, o)), (b

91394317296, (a)—(iv), (b)iii), (e)—(ii), (d)—(i)

Question Number : 124 Question Id : 9139434402 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= < gl € €, o W 9eg 8 oft o= W I W 8 § | T 1 g 11 @ gt hif
3 = fom e e # @ @ s gh

T 1 ¥ 1T
CLee) (g )

(2) 5 () g
(e (iii) |Hrg
(d) ":Eﬁ (iv) TER

%
Options :

sigeagiyogy U (-0, (o -((UEaEv)

9139uz170gs M uiby (v, o)), (b

91394317296, (a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)

Question Number : 125 Question Id : 9139434403 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
During which one of the following Five Year Plans was regional approach to build new
towns and prepare master and regional plans, emphasized in India for the first time ?
Options :

91394317297, Tourth Five Year Flan

91394317295, 1 urd Five Year Plan



www.prepp.in .repp

Your Personal Exams Guide

91394317299, Sixth Five Year Plan

91394317300, [unth Five Year Plan

Question Number : 125 Question Id : 9139434403 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e # FrefeiRaa o @ fora swadffa Tt S SR Fu g w9 i ARt v &6 JisATd duR e
% &t gfedenion W vgelt ar =& T mn 2

Options :

91394317297, sef

91394317298,

913943172989. =

91384317300. Al

Question Number : 126 Question Id ; 9139434404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

For expediting the development of small and medium sized towns, the scheme of Integrated
Development of Small and Medium Towns (IDMST) was initiated during the

Options :

91394317301, itk Five Year Plan

91394317302, Sixth Five Year Plan

Eighth Five Year Plan
91394317303.

91394317304, [unth Five Year Plan

Question Number : 126 Question Id : 9139434404 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

@Y 3R HETH ATHR % V7l  fahma 7 a5t 9 & fow @y ofit nem w=d & wfea fawm
(omg. & un.wm . ) A form daadia T % RE IE TS

Options :
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91294=17301.

91394317302. =

91394317303.

91394317304, Al

Question Number : 127 Question Id : 9139434405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following kinds of towns was not planned and developed during the
British Rule in India ?
Options :

91394317305, Cantonment Towns

91394317306, Model Towns

Railway Colonies
91394317307.

91394317303, Tl Stations

Question Number : 127 Question Id : 9139434405 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Preafafias # @ fora v o wIzd )t wrea 0 ffesr sraa < A vam qon fasfa a8 femam mmam o 2
Options :

HETHE
91394317305, =

Aisd
913943173086, Hst

91394317307. A

TRE WA
91394317308,

Question Number : 128 Question Id : 9139434406 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Which one of the following statements is frue about the concept of development ?

Options :

Development is a discrete process.
913943173089.

Development is a uni-dimensional process.
91394317310.

Development stands for growth with a change.
91394317311.

Meaning of development remains the same in time and space.
91394317312

Question Number : 128 Question Id : 9139434406 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

famra <t srqgmoon & gag # Feafalas § @ H9-ar we= @@t 2 2
Options :

@ v g R B |
91394317309

fawra It gl
91394317310 H ¢

fersprar <t srftromar whtards % T gfg 2 |
91394317311.

o SR T < go 4 fosra it aftm que war R |
91394317312.

Question Number : 129 Question Id : 9139434407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The city plans in ancient India were laid down in accordance to some
pre-conceived ideas, with high standards of public health.

Reason (R) : This does not, however, reflect the concern of ancient India for community
sanitation and health.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317313,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394317314,
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(A) is true, but (R) is false.
913943217315,

(A) is false, but (R) is true.
91394317316,

Question Number : 129 Question Id ; 9139434407 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

= 2t A fym e §, o & v i (A) R o @0 7% (R) § | el i ufge 3 i faw e
% 1 TN F GE SR G |

S (A) : TR WA A T AATE € TRed F 3= WHH & a9 $9 [@-aiia = %
HFER T8 7% o |

% (R) : AUV, g W= HRA i AR Weadl iR w@ree gadt foar wt ot 78 a2 |

R
Options :

A) (R TgT (R), (A) *ht T8 sgrean
91394317313 (R) TFI Tt & 94T (R), (A) Ht &) 21

(A) 3R (R) gt 9t 2, 95g (R), (A) i Gt sarem 76 2 |
913942317314,

A) y (R)Tdd = |
91394317315, { Hﬁi%‘i’(f-@ !

A) Teld &, R) |
91394317316. { %‘f{:@( Ll

Question Number : 130 Question Id : 9139434408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The major objective behind identification of five counter-magnet cities outside the National
Capital Region (NCR) was

(i) To further strengthen policies for decentralisation of economic activities
within and outside the NCR.

(i) To further strengthen policies for decentralisation of population within and
outside the NCR.

(iii) To further strengthen the availability of physical infrastructure facilities within and
outside the NCR.

(iv) To further strengthen health and medical care services outside the NCR.

Choose the correct answer from the code given below :
Code:

Options :

(i) and (iii) are correct.
91394317317,
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i), (ii) and (iv) are correct.
91394217318. ), (@) dy)

(i) and (ii) are correct.
91394317319,

(1), (iii) and (iv) are correct.
91394317320,

Question Number : 130 Question Id : 9139434408 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T T 8 (TR, ) 3 e o e At TR eeE W e R o
() LR, % it ok arR anfdie nfafafert & ferfien & fore Hifest 6t amt
gge A & foe |

(i) .HLAR. % Hidt IR SR SwEEn % i % fog et ot i gge FH g )
(i) TR, % i S AR Wit srmEta i Iecrsaar w3k gge $A & e )
(iv) TR, & 91et e @ik Tuferean ate dane #t 3k gge +E 1 |

fr= fgu e e ® |/ "6 IW H gE

C -

Options :

91394317317 (0 3R (i) T 2 1

91394317318, @, (i) 3R () TR0 E |

91394317319, 0 3R ) T E

91394317320, ), i) 3 (o) TR T

Question Number : 131 Question Id ; 9139434409 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which one of the following is approximate length (in ’000 kms) of the Indian Coastline ?

Options :
91394317321,
91394317322,

91394317323. !
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91394317324.

Question Number : 131 Question Id : 9139434409 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fr=fefas o @ sh-gh w9 Tan 6 s seard (sor Rt ) 2 2

Options :

5
91394517321.

6
913943517322.

7
91394317323

8
91394517324.

Question Number : 132 Question Id : 9139434410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following is not a major industrial centre ?

Options :

91394317305, Coimbatore

91394317306, olkata

91394317307 Madurai

91394317305, Trwmbai

Question Number : 132 Question Id ; 9139434410 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

freaforfiaa & |/ SR-a1 e yqa s 53 78 ] 2
Options :

Pl

912394217325,

91394317326.
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R

91394317327.

T

91394317328.

Question Number : 133 Question Id : 9139434411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Who among the following has classified Indian agriculture into sixty micro-regions, thirteen
meso-regions and six macro-regions ?

Options :

Jasbir Singh
913943173283.

L. Dudley Stamp
91394317330.

S.P. Chatterjee
91394317331.

P. Sen-Gupta
91394317332,

Question Number : 133 Question Id : 9139434411 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafa o & forem w6t fiontor are &y, aXg weam ol ©: 9eq_ &9t 4 fawea foran 2

Options :

AL
91394317329, e

91394317330.

wa g, Sesit
91394317351,

. ¥9-
91394317332, &

Question Number : 134 Question Id : 9139434412 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following States in India recorded the highest percentage of decadal
growth of population during 2001 — 2011 ?

Options :
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91394317333, Arunachal Pradesh

91394317334, Utar Pradesh

91394317335, Maharashtra

West Bengal
91394317336.

Question Number : 134 Question Id ; 9139434412 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

frefofiaa 3 & wia & 59 Tsa 7 2001 — 2011 % A SAaE o waites guhm gfg (sfowa 1)
8% ?

Options :

ARSI
9139431/7333. e

IH oW

91394317334.

91394317335.

91394317336,

Question Number : 135 Question Id : 9139434413 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following rivers does nof form a delta ?

Options :

91394317337 Mahanadi

Cauvery
91394317338,

91394317339, l\armada

91394317340, Lrishna

Question Number : 135 Question Id : 9139434413 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Frefeifiaa 4 @ -8t 78 Seer 1 Fmifor 78 et 2 2

Options :

i

91394317337.

91394317338.

91394217339, T
Call

91394317340.

Question Number : 136 Question Id : 9139434414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following group of States recorded Santhal tribe population as per census of
India, 2011 ?

Options :

Bihar, Jharkhand, Maharashtra
91394317341.

Gujarat, Bihar, Rajasthan
91394317342,

Jharkhand, Odisha, West Bengal
91394317343.

Bihar, Odisha, Andhra Pradesh
91394317344,

Question Number : 136 Question Id ; 9139434414 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

2011 % STOAT 3ishel % IFER Frafalfas 7 @ o Ts3-ag 9 qura seefa i Saaen a8 o
8 ?

Options :

frER, InEs, TERTS
91394317341, ’ ’

T, forER, U™
91394317342, ’ ’

wrge, fem, afvam T
91394317343
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faEr, sifesm, onig
91394317344, g : i

Question Number : 137 Question Id : 9139434415 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I with List II and choose the correct answer from the code given below :
List I List IT
(Hydro Electric Power Plant) (State)

(a) Kopali (i) Maharashtra

(b) Dool-Hasti (ii) Assam

(¢) Koyna (ili) Jammu and Kashmir

(d) Ranganadi (iv) Arunachal Pradesh

Code:
Options :

91394317345, 2~ (D)), (e)-(i), (d)-(i)

91394317346, 2l (B-(), ()-wv), (d)-)

91394317348 (a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)

Question Number : 137 Question Id : 9139434415 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

gt 1 ) gt 11 & gafe iR s 9 R e e § @ T IR R

WI ‘{L#r]]

(a) et @ TR

(b) eI (i) oTEm

W) e (1v) ST 20
6
Options :

qysaamyeas TN, oD
grsgasragy o (b (O-(v) (D

sisangivagy - (b, (-0, (d-v)
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51394317345 2% (b)), (-, (d)-(iiD)

Question Number : 138 Question Id : 9139434416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match List I with List IT and choose the correct answer from the code given below :

(Soil Type) (State)
(a) Alluvial (i) Kerala
(b) Red (i) Uttarakhand
) Laterite (iii) Tamil Nadu
(d) Submontane () Ditar Dradesh
Code:
Options :
D, (B)~(iv), (0D, (D
91394317340, &~ (B-(v), (c)-{iiD), (d-(iD)
b e
srsangiyeey W B, (-0, (d-v)
ii), (b)—(iii . (=G
sissiaiyasy B (medi), (o), (d-v)
i b 111 : d 23
sizoumizasy T nen bl o (R

Question Number : 138 Question Id : 9139434416 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tt 1t et 11/ gafer i of e e o e 9 @ wt s g

T I a1

e} "k (i

(b). i1 (i) IS

(c) WAL (iii) P T

(d) i< (Tere) (iv) FRTRT

C T
Options :

srgsaniaggy - WhBx-00; (o (-0
sisgasizasy i, (-6, (-0, (d)-lv)

ayzeazyrasy. oo ADR (O, (U
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siggagyzess B0l (U0, (d)-al

Question Number : 139 Question Id : 9139434417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match List I with List IT and choose the correct answer from the code given below :
List I List IT
(Biosphere Reserve) (State)

(a) Pachmarhi (i) Assam

(b) Simlipal (ii) Madhya Pradesh

(¢) Agasthyamalai (iii) Kerala

(d) Manas (iv) Odisha

Code:

Options :

91394317353, (a)-(iid), (b)~(iv), (e)-(1), (d)—(ii)

sisangiyeey OB, (-0, (-0)

91394317355, W) (B-(¥), ()i, (=D

Question Number : 139 Question Id : 9139434417 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tt 1t et 11/ gafer i of e e o e 9 @ wt s g

ﬁl 'g;\d]‘n
(¢) m (iii) o
(d) AFE (iv) Hfem
C T4
Options :
91394317353, (@)~(iii), (b)—(iv), (e)-(D), (D)
91394317354 (a)—(iv), (b)(ii), (e)—(iii), (d)—(i)
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91394317356, U (b)(iv), (e)(id), (d)—(D)

Question Number : 140 Question Id : 9139434418 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following plateaus is notf a part of the South Central Highlands ?

Options :

91394317357 Maharashtra

91394317358, Malwa

Vindhya
913943173589.

Chotanagpur
91394317360,

Question Number : 140 Question Id : 9139434418 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrefciad % & a1 wer <favae 3= it %t fowen 7 3 2

Options :

91394317357.

91394217358,

91394317359.

BN

91394317360.

Question Number : 141 Question Id : 9139434419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following variables is correct to divide a universe of 500 students of a class
into two by their gender and then take a random sample of the males and a random sample
of females ?

Options :

9139431736, Control variable

Independent variable
91394317362,



www.prepp.in .repp

Your Personal Exams Guide

Dependent variable
913943217363,

9139431736 Swatified variable

Question Number : 141 Question Id ; 9139434419 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

forddt T % 500 SHIV/SEIR H I forrm & AR T Wt 7 e g7y * Figfeos gy il Ragt
& Agfeoh viagy o % fog Frafafes 4 @ sR-ar =t adi 2 2

Options :
91394317361, =

91394317362. ™

91394317363
91594317364,

Question Number : 142 Question Id : 9139434420 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following features creates problems in the Satellite Remote Sensing data ?

Options :

91394317365, Land cover

91394317366, Cloud cover

91394317367, ' ater cover

Vegetation cover
913943173685.

Question Number : 142 Question Id : 9139434420 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrefeRag | @ -t fasea Geemse fte afém srer @ awen 351 ot 2 2

Options :

Y A
91394317365.
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drgel AT
91394317366.

91394317367. a

913943173€8.

Question Number : 143 Question Id ; 9139434421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which one of the following processes is the main task for the computer in mapping the
geographical data ?

Options :

Data storage
913943173689,

91394317370, DAt collection

91394317371 Data visualization

Data retrieving and drawing
91394317372,

Question Number : 143 Question Id : 9139434421 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

vimifers sl % arfeo # Freafafas 4 @ S-d@ sFn @ sigea s R 2
Options :

HAiwgT HSH

91594317369

Sttt guza
913943217370 i

Jttpgt A FHewt
91394317371,

TRl hl JA-ITq FAT 3R 7R @
91394317372.

Question Number : 144 Question Id : 9139434422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following mapping techniques is correet to show delineated areas having
different colours ?

Options :
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912394217373,

91394317374.

91384317375.

91384317376.

Isopleth

Choropleth

Chorochromatic

Choroschematic

prepp
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Question Number : 144 Question Id ; 9139434422 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fFrefafas # wR-d aafem g Wife S R R S flr i s g ad 22

Options :

91394317373,

9139431/7374.

91394317375,

91394317376,

JFErAY

Question Number : 145 Question Id : 9139434423 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Variable Y regresses with variable X with the conditions that X = 5:50,
Y =350 and b = 1-50 in the linear regression model (Y = a + bX), where
Y and X are means of the respective variables and b refers to gradient of
line of Y w.r.t X. Which one of the following values of parameter “a’ of the

model is correct ?

Options :

91384317377.

9139431/7378.

91384317379.

91394317330.

1-75

3-75

—4-75

—5-75
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Question Number : 145 Question Id : 9139434423 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Y R X S 9 34 5 [P O FHAl 2 6 wiE mmE gigd (Y = a + bX)

1 X =550, Y =350 b=150%, 5@l Y 3 X wifs =0 & qeaqe 2
3 b, Yo Mg X % i Yaurn 1@ & 3P| e 2 | 36 Aisd 5 UEd Al W

Treferfiga o 9 wH-a1 99 96 2 ?
Options :

91394317377, 1
91394317378, ° 10
91394317379, —*10
91394317380, 210

Question Number : 146 Question Id : 9139434424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one is labelled as Assertion (A) and the other is labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Nearest neighbour analysis is an approach to the study of point, line and
area patterns.

Reason (R) : Measurement of distance by comparing the observed mean distances with the
expected mean distances between sampled points and their nearest neighbours.

Code:
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394317381,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394317382,

(A) is true, but (R) is false.
91394317383.

(A) is false, but (R) is true.
91394317384.

Question Number : 146 Question Id ; 9139434424 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A9 Q) Fom R e E, il 3 o sl (A) # ot gga 7 (R) | el 1 afge oft A9 Ry g
% 1 TN F GE SR G |

¥ (A) : Theaw werd! fgeraw fag, Y@ 3R & % 9o & 1eas 1 G gieehiv 2 |

a% (R) : Sfacfia fag ok 37 Frereaw weiftrat & == arcafess wegwm it R sgwifia weme
it 3 gerT gl A AT |

C -

Options :

a4t Sl
91394317381 () 3T (R) TR TEl & T (R), (A) et 2l

(A) 3R (R) gt Tt 8, g (R), (A) i Tt sarem 76 |
91239421738z,

A) y (R)Tdd = |
91394317383. { Hﬁi%‘i’(f-@ !

A) Teld &, R) |
91394317304. { %‘f{:@( e

Question Number : 147 Question Id : 9139434425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following diagrams represents the ocecupational structure of population ?

Options :

Isopleth
91394317385,

91394317356, Contour

Pie diagram
91394317387.

Choropleth
91394317388,

Question Number : 147 Question Id : 9139434425 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
freafefas 3 @ wiv-ar 9 seaea 6 Yomra 9 S i g 2

Options :

THH (3TFETaY)

91394317385.

91394317356. i &)
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g9 ARE
91394317387.

91394317388.

Question Number : 148 Question Id : 9139434426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following aspects could be correctly represented in a contour map ?

Options :

Population distribution
91=94317389.

91394317390, Terrain elevation

91394317391, 1ockhardness

91394317392, ol distribution

Question Number : 148 Question Id ; 9139434426 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

frefafad & $-w1 vee] avr=t &t Arfes 4 g8t qutan s awar g ?
Options :

91394317388%.

YT S

91394317390.

=Ml I ggal
91394317391

farawo
91394317392, g

Question Number : 149 Question Id : 9139434427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which one of the following denotes the lines joining equal amount of travel time ?

Options :

91394317393, 1sobaline
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91394317394, 1Sochrone

Isoheight
91394317395,

Isopleth
91394317396.

Question Number : 149 Question Id ; 9139434427 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (0

Preafeafias # @ o gue amr owg w S el et w awfar 2 2
Options :

91394317353 -

91594317394,

91394317385,

T @1 (e )

91394317396.

Question Number : 150 Question Id : 9139434428 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which one of the following random sampling techniques becomes more appropriate for
homogeneous population groups ?
Options :

Systematic
91394317397.

Simple
91394317398,

91394317399, Srratified

Proportionate
91394317400.

Question Number : 150 Question Id : 9139434428 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafifaa ® @ #A-ar agfes il gt aurt soem aggt & fo st sagea 8 2

Options :
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91394317397,

913942173598,
91594317398.

91294217400,



